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Topic:- CDP_P2_CTET

) Which of the following statements is correct about development ?
(1) Development is uniform
Development is entirely unpredictable

(
(
(

2)
3) There are individual differences in development
)

e

Development proceeds from specific to general
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1[Q:J<[ecs)tit9n Ill; =11] 1[Question Description = S6_CDP_Q001]

2. 2 [Option ID = 2]
3. 3 [Option ID = 3]
4. 4 [Option ID = 4]

2)
Assertion (A) : Provision of mid-may meals in schools can ensure better nutritional health of the
students.
Reason (R) : Environmental factors do not play any role in shaping an individual since growth

is determined only by heredity.
Choose the correct option :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A)is true but (R) is false.
(4) Both (A) and (R) are false.
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[Question ID = 2][Question Description = S6_CDP_Q002]

1. 1 [Option ID = 5]
2. 2 [Option ID = 6]



3. 3 [Option ID = 7]
4. 4 [Option ID = 8]

3 As an agency of secondary socialization the primary function of the school is to :

(1) Cut the child off from the home.

(2) Undo the learnings children had at home.

(3) Contradict the learnings acquired by the child in the family.

(4) Be an extension of the family and build upon the things child is familiar with.
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[Question ID = 3][Question Description = S6_CDP_Q003]
1. 1 [Option ID = 9]

2. 2 [Option ID = 10]

3. 3 [Option ID = 11]

4. 4 [Option ID = 12]

4)

In Jean piaget’s theory is said to occur when a child perceives new objects or events in
terms of existing schemas :

(1) Assimilation

(2) Organization
(3) Metacognition
(4) Scaffolding
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[Question ID = 4][Question Description = S6_CDP_Q004]
1. 1 [Option ID = 13]
2. 2 [Option ID = 14]
3. 3 [Option ID = 15]
4. 4 [Option ID = 16]

5)



Despite their abilities to solve different kinds of problems

children still cannot think

hypothetically.

(1)
(2)
(3)
(4)

Sensori - motor
Concrete operational
Pre - operational
Formal operational
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[Question ID = 5][Question Description = S6_CDP_Q005]
1. 1 [Option ID = 17]
2. 2 [Option ID = 18]
3. 3 [Option ID = 19]
4. 4 [Option ID = 20]

6)

According to Kohlberg the pre-conventional level of moral development is characterised by :

(1)
(2)
)

(4)

Focus on how cultural factors and gender influences moral development
Good or bad is determined by the consequences of obeying or disobeying rules

The individual strives to maintain the expectations of others rather than focus on the
consequences of one’s actions.

Self-chosen ethical principles that are universal

HIgAaT & STTER Afae fae™ & gd R T st favmda 82

(1)
(2)
(3)

(4)

39 o W &AM <A1 o witsfas s eI e e fawm = F8 ganfaa = ¥

=1 A1 90 Tl % wiers 2 st & ftomei | fAifa g g

e o797 1Al o RO 92 AT hiad T & Feid T ST STUSNS sl ST T 1 YA Hid
g

- gu e fagidl &1 aer s i g i §)

[Question ID = 6][Question Description = S6_CDP_Q006]
1. 1 [Option ID = 21]
2. 2 [Option ID = 22]
3. 3 [Option ID = 23]
4. 4 [Option ID = 24]

7)

(
(
(
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A teacher believing in Vygotsky’s socio-cultural theory should :

Discourage interaction and dialogue among students

Provide appropriate scaffolding to students as and when required
Offer rewards and punishment to students regulating their behaviour
Enable students to form associations between stimulus and response
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[Question ID = 7][Question Description = S6_CDP_Q007]
1. 1 [Option ID = 25]
2. 2 [Option ID = 26]
3. 3 [Option ID = 27]
4. 4 [Option ID = 28]

8)

In Lev Vygotsky's theory, knowledge is co-constructed by the child and the adult the
zone of proximal development.

(1) Outside

(2) Within

(3) Beneath

(4) Ahead of
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[Question ID = 8][Question Description = $6_CDP_Q008]

1. 1 [Option ID = 29]
2. 2 [Option ID = 30]
3. 3 [Option ID = 31]
4. 4 [Option ID = 32]

) Which of the following is NOT included in a progressive and child-centered education ?
(1) Use of digital technology and teaching-learning materials

(2) Emphasising learning from activities, experiences, and playful exploratory manner

(3) Emphasis only on course completion with structured curriculum

(4) Active participation of students with democratic and free expression
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[Question ID = 9][Question Description = S6_CDP_Q009]
1. 1 [Option ID = 33]
2. 2 [Option ID = 34]



3. 3 [Option ID = 35]

4. 4 [Option ID = 36]

10)
Measurement of intelligence by calculating Intelligence Quotient (IQ) through use of standardized
tests is problematic because -

(1) are not Culturally fair

(2) give only qualitative analysis
(3) measure intelligence comprehensively
(4) account for individual differences
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2. 2 [Option 1D = 38]

3. 3 [Option ID = 39]
4. 4 [Option ID = 40]

11)

Assertion (A) : Teachers should not create print-rich environment in the elementary classrooms.
Reason (R) : Development of language is an inborn ability.

Choose the correct option.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(3) (A)is true but (R) is false.

(4) Both (A) and (R) are false.
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2. 2 [Option D - 42]

3. 3 [Option D - 43]

4. 4 [Option ID = 44]

12)



Assertion (A) : Boys and Girls learn to behave in ‘Gender appropriate” ways by observing and
limitating same-sex adults.

Reason (R) : Gender is a purely biological construct.

Choose the correct option.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A) is true but (R) is false.
(4) Both (A) and (R) are false.
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1[Q:.|<E\;;it?; |Il; =415 ]2][Question Description = S6_CDP_Q012]

2. 2 [Option Ip - 46]

3. 3 [Option ID = 47]
4. 4 [Option ID = 48]

13)
While interacting with a diverse group of students, a teacher :

(1) Should discourage discussions that encourage the students to talk about their backgrounds
and experiences.

(2) Continuously reflect on her own stereotypes and biases.
(3) Follow a uniform curriculum and standardised evaluation.
(4) Adopt the lecture method as the primary mode of teaching.
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[Question ID = 13][Question Description = S6_CDP_Q013]
1. 1 [Option ID = 49]
2. 2 [Option ID = 50]
3. 3 [Option ID = 51]
4. 4 [Option ID = 52]



14)  Assessment should be :

(1) Holistic and continous.

2) Standardised and exam centric.
3) Summative and norm-referenced.
)

Teacher-centered and discontinous
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[Question ID = 14][Question Description = S6_CDP_Q014]
1. 1 [Option ID = 53]
2. 2 [Option ID = 54]
3. 3 [Option ID = 55]
4. 4 [Option ID = 56]

15) Which of the following is not a characteristic of students who are critical thinkers ?
(1) Open-mindedness and inquisivness

(2) Following instructions blindly
(3) Asking clarifying questions
(4) Assessing the credibility of sources
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[Question ID = 15][Question Description = S6_CDP_Q015]
1. 1 [Option ID = 57]
2. 2 [Option ID = 58]
3. 3 [Option ID = 59]
4. 4 [Option ID = 60]

16)

Which of the following of advocates a flexible learning environment considering the unique needs
of each child in an inclusive classroom ?

(1) Highly structured curriculum

(2) Standardized assessment

(3) Universal designs for learning

(4) Uniform and summative assessment
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[Question ID = 16][Question Description = S6_CDP_Q016]
1. 1 [Option ID = 61]
2. 2 [Option ID = 62]
3. 3 [Option ID = 63]
4. 4 [Option ID = 64]

') In a group of diverse learners teachers should practise multicultural education :

(1) Aimed at ensuring uniform and standardised curriculum.

(2) By using uniform and standardized assessment.

(3) By creating separate sections based on the cultural backgrounds of children.
(4) By creating a classroom ethos where every child feels a sense of belonging.
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[Question ID = 17][Question Description = S6_CDP_Q017]
1. 1 [Option ID = 65]
2. 2 [Option ID = 66]
3. 3 [Option ID = 67]
4. 4 [Option ID = 68]
18)
Sunita exhibits repetitive motor actions and has difficulty making friends though she has ability
for excellent attention, to detail. These are typical identifying characteristics of :
(1) Autism
(2)
(3) Dysgraphia
(4) Attention deficit hyperactivity disorder

Dyslexia
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[Question ID = 18][Question Description = S6_CDP_Q018]
1. 1 [Option ID = 69]



2. 2 [Option ID = 70]
3. 3 [Option ID = 71]
4. 4 [Option ID = 72]

19) Which of the following is an example of assitive technology to aid hearing ?
(1) Braille system

) Walking stick

) Sound amplifier

)

(SRR O

(
(
(4) Eyeglasses
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[Question ID = 19][Question Description = S6_CDP_Q019]
1. 1 [Option ID = 73]

2. 2 [Option ID = 74]

3. 3 [Option ID = 75]
4. 4 [Option ID = 76]

20) Which of the following are important characteristics of creativity ?
(i) Divergent thinking
(i) Originality of ideas
(iii) Flexibility
(iv) Convergent thinking

(1) (1) () (i)
(2) (@) (@)

(3) (i) (i)

(4) (@) (i) (i) (iv)
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[Question ID = 20][Question Description = S6_CDP_Q020]
1. 1 [Option ID = 77]
2. 2 [Option ID = 78]
3. 3 [Option ID = 79]
4. 4 [Option ID = 80]



21)  For effective learru'ng, teachers should ensure that the leaming activities :

(1) Build on the previous understanding of the students and further it.

(2) Are aimed to only reproduce knowledge from the textbook.
(3) Are decontextualized and depersonalized.
(4) Are extremely complex and abstract.
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1[Q:J<[e;:)1?; |||; =821;][Question Description = S6_CDP_Q021]

2. 2 [Option ID - 82

3. 3 [Option ID = 83]
4. 4 [Option ID = 84]

22) *Alternative conceptions’ among children :

(1) Reflect the egocentric and irrational thinking of children.

(2) Are found only in children with very high IQ levels.

(3) Are an obstracle to learning and should be punished.

(4) Are the ‘naive’theories that children construct about phenomenon around them.
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[Question ID = 22][Question Description = S6_CDP_Q022]
1. 1 [Option ID = 85]
2. 2 [Option ID = 86]
3. 3 [Option ID = 87]
4. 4 [Option ID = 88]

23) Teachers can encourage effective problem solving by :
(1) Discouraging multiple perspectives and guesses in her class
(2) Encouraging children to make intuitive guesses
(3) Writing step-by-step solution to the problem
(4) Focusing on the reproduction of textbook knowledge
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1[Q:1?;tit9n Ill; =8§?][Question Description = S6_CDP_Q023]

2. 2 [Option 1D = 90

3. 3 [Option ID = 91]
4. 4 [Option ID = 92]

24)

As the class teacher of an underachieving child, which of the following facilitative strategies do
you think would be most useful ?

(1) Give the student a long lecture on his underachievement
(2) Try to identify the reasons for his underachievement and set short term, achievable goals

(3) Ask the school management to take necessary steps such as making a separate section for
under achieving students

(4) Call the parents of the child and tell them that their child does not have any ability so they
should put the child in a seperate school
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[Qut[estiQn ID_= 2;1][Question Description = S6_CDP_Q024]

2. 2 [Option ID = 94]
3. 3 [Option ID = 95]
4. 4 [Option ID = 96]

2% Which of these is an important activity to enable conceptual understanding in children ?
(1) Dialogue

(2) Lecture

(3) Direct Instruction

(4) Rewards
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[Question ID = 25][Question Description = S6_CDP_Q025]
1. 1 [Option ID = 97]

2. 2 [Option ID = 98]

3. 3 [Option ID = 99]

4. 4 [Option ID = 100]

26)

According to National Education policy 2020, experiential learning will be adopted in all stages.
What is NOT correct with respect to experiential learning ?

(i) It makes the teacher more active in the teaching-learning process than the students.

(ii) It helps in connecting past experiences to gaining new knowledge and transfer of positive
learning,

(iii) It is completely based on the promotion of traditional bookish knowledge.

(iv) Itemphasizes on developing real and scientific understanding in students through experiences
and experiments.

(1) (i), ()
(2) (), (i)
(3) @) @)
(4) (i), (i)
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[Question ID = 26][Question Description = S6_CDP_Q026]
1. 1 [Option ID = 101]
2. 2 [Option ID = 102]
3. 3 [Option ID = 103]
4. 4 [Option ID = 104]



27)  Which of the following emotions facilitates the process of meaningful learning ?

(1) Panic

(2) Frustration
(3) Irritation
(4) Excitement
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[Question ID = 27][Question Description = S6_CDP_Q027]
1. 1 [Option ID = 105]
2. 2 [Option ID = 106]
3. 3 [Option ID = 107]
4. 4 [Option ID = 108]

28) Children learn best through the processes of :
(1) Passive imitation

(2) Drill and recall
(3) Rote memorization
(4) Guided discovery
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[Question ID = 28][Question Description = S6_CDP_Q028]
1. 1 [Option ID = 109]
2. 2 [Option ID = 110]
3. 3 [Option ID = 111]
4. 4 [Option ID = 112]

29)

Which of the following is a higher order ability that involves thinking about one’s own thinking ?
(1) Recall

(2) Conditioning
(3) Metacognition
(4) Repetition
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[Question ID = 29][Question Description = S6_CDP_Q029]
1. 1 [Option ID = 113]
2. 2 [Option ID = 114]
3. 3 [Option ID = 115]
4. 4 [Option ID = 116]

30) Teachers can encourage children to become infrinsically motivated by :
(1) Use of methods of conditioning

(2) Giving appropriate rewards
(3) By use of punishment
(4) By considering student’s interests
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[Question ID = 30][Question Description = S6_CDP_Q030]
1. 1 [Option ID = 117]
2. 2 [Option ID = 118]
3. 3 [Option ID = 119]
4. 4 [Option ID = 120]

Topic:- MATH_P2_CTET

1 g
) When we add one to four digit greatest number, we get :

(1) A four digit number with unit digit 9.
(2) The five digit greatest number.

(3) The five digit least number.
(4)

4 A five digit number with unit digit 1.
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[Question ID = 31][Question Description = S6_Maths Content/Pedagogy_Q031]
1. 1 [Option ID = 121]
2. 2 [Option ID = 122]
3. 3 [Option ID = 123]



4. 4 [Option ID = 124]

2 While teaching in Class VI students, teacher explains that :

6+4=4+6

6—4#4—6

6x4=4x6

Which property He/She is trying to explain :
(1) Closure property

(2) Associative property
(3) Commutative property
(4) Multiplicative inverse property
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6+4=4+6

6—4#4—6

6x4=4x6
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[Question ID = 32][Question Description = S6_Maths Content/Pedagogy_Q032]
1. 1 [Option ID = 125]
2. 2 [Option ID = 126]
3. 3 [Option ID = 127]
4. 4 [Option ID = 128]

) Which of the following is a prime number ?
(1) 1
(2) 2
3 9
(4) 4

Fr=fafag # 9 S UF 279 9 § ?

1) 1
(2 2
(3 9
(4) 4

[Question ID = 33][Question Description = S6_Maths Content/Pedagogy_Q033]
1. 1 [Option ID = 129]
2. 2 [Option ID = 130]
3. 3 [Option ID = 131]
4. 4[Option ID = 132]



D Ifwe multiply a fraction by itself and then divide the product so obtained by its reciprocal,

then the fraction obtained is 2%. The original fraction is :

1

(1 %3

1

2 13

1

3 33
s 8
4) 3

afg 79 fFEt fr= ) e SHY TN R U [UAT 1 3HF Sk | I el €, @ 2%,1 1

TN T T
1
M 25
1
@ 13
1
3 33
8
@ 3

[Question ID = 34][Question Description = S6_Maths Content/Pedagogy_Q034]
1. 1 [Option ID = 133]
2. 2 [Option ID = 134]
3. 3 [Option ID = 135]
4. 4 [Option ID = 136]

® What number should be added to 0.01 to get 1.17
(1) 224
(2) 1.09
(3) 0.91
(4) 0.19

1.1 9 & & ferg, 0.01 § forg den 1 Sie s =ifge ?

(1) 111
2 1.09
3) 0091
4 019

[Question ID = 35][Question Description = S6_Maths Content/Pedagogy_Q035]
1. 1 [Option ID = 137]
2. 2 [Option ID = 138]



3. 3 [Option ID = 139]
4. 4 [Option ID = 140]

" Foran algebraic operation (addition, subtraction or multiplication), which of the following
statements is NOT true ?

(1) Like terms are added

(2) Like terms are subtracted

(3) Inaddition and subtraction, like and unlike terms are left as they are
(4)

4)  Only like terms are multiplied

ot Sitsia dferan (0, =rashad o1 ) & fon, frefafad 5 3 $-a e 99 =6 22
(1) H9F &I Siel SR |
(2) M &I I R ST |
(3) A iR SHEwed H, HH iR 39 16 o Tl & Sie fom S § s a9 )
(4) e HEM TS 1 TN fR S
1[Q:J([ecs;tit(?n I||[)> =1.:?]][Question Description = S6_Maths Content/Pedagogy_Q036]
2. 2 [Option ID = 142]

3. 3 [Option ID = 143]
4. 4 [Option ID = 144]

" The ages (in years) of Hari and Harry are in the ratio 5 : 7. Four years from now, the ratio
of their ages will be 3 : 4. Their present ages are :

(1) Hari 28 years, Harry 20 years.
(2) Hari 20 years, Harry 28 years.
(3) Hari 15 years, Harry 21 years.
(4) Hari 21 years, Harry 15 years.

2t 3R &0 Y @y (ouf #) o1 ST 5: 7 %1 ST Y 4 9 9IE TART SN T ST 3 2 4 B ST |
?Flﬂ-ﬁaﬁqﬁaﬂaﬁ'

(1) =R 28 =, & 20 7
@ =R20 3, & 28
@) R 15 =, & 21 =
@) =R 2199 & 159

[Question ID = 37][Question Description = S6_Maths Content/Pedagogy_Q037]
1. 1 [Option ID = 145]
2. 2 [Option ID = 146]
3. 3 [Option ID = 147]
4. 4[Option ID = 148]



® Inatwo digit number, the digit in tens place exceeds the digit in units place by 4. If the

1
sum of the digits is 7 of the number, then the digit at the units place in the number is :

1 5
(2) 4
B 3
4) 1

Terdt 21 37} &1 HE H <21 &1 3 SHE & 37 9 4 3fus &1 3fe sl o1 9 3| e 2

7
2, @1 IR & TIH F1 3F T
1) 5
2 4
3 3
4 1

[Question ID = 38][Question Description = S6_Maths Content/Pedagogy_Q038]
1. 1 [Option ID = 149]
2. 2 [Option ID = 150]
3. 3 [Option ID = 151]
4. 4 [Option ID = 152]

' If yis the simple interest (in ) on T 30000 at 15% per annum for 3 years, then the value of
2x+50 is:
(1) 27500
(2) 27050
(3) 25750
(4) 25700

Af x (X H) T 30000 W 15% afties =151 o1 2L H 3 FY o1 LR A €, 9 2x+50 F1 HH & :

(1) 27500
(2) 27050
(3) 25750
(4) 25700

[Question ID = 39][Question Description = S6_Maths Content/Pedagogy_Q039]
1. 1 [Option ID = 153]
2. 2 [Option ID = 154]
3. 3 [Option ID = 155]
4. 4 [Option ID = 156]



10) 2 2
(4x° =12x+9)(ax” +bx) .

(2x2—3x) is equal to :
(1)  (ax+b)(2x+3)
() (ax+b)@2x-3)
(3) (ax—b)(2x+3)
(4) (ax—b)(2x-3)

(41‘2 — 12x + 9) (axz + bx) W%:

(222 — 3x)
(1) (ax+Db) (2x+3)
(2) (ax+Db) (2x—3)
(3) (ax—Db) (2x+3)
(4) (ax—b) (2x—3)

[Question ID = 40][Question Description = S6_Maths Content/Pedagogy_Q040]
1. 1 [Option ID = 157]
2. 2 [Option ID = 158]
3. 3 [Option ID = 159]
4. 4 [Option ID = 160]

11 : :
' Ifx, y and z, respectively represents the number of faces, edges and vertices of a hexagonal

%
+y+z
pyramid, then the value of [%] is

(1) 121
(2) 144
(3) 169
4) 196

Afe T TS SR A frfire & o, fRAmT 9T 9T i Hemd e x, y o9 2 9 e

Bt &, dl (MTWW%:

2
(1) 121
2) 144
3) 169
(4) 19

[Question ID = 41][Question Description = S6_Maths Content/Pedagogy_Q041]
1. 1 [Option ID = 161]
2. 2 [Option ID = 162]
3. 3 [Option ID = 163]
4. 4 [Option ID = 164]



A triangle is to be constructed with sides (2p —1) em, (2p+1) cm and 12 em. For
constructing the triangle, p must always be :

(1) Greater than 3

(2) Greater than 2.5
(3) Equalto3
(4) Equalto25

e Tt &t TR ST 2, et e (2p - 1) em, (2p 4+ 1) em SR 12 em # | oS #1 w=E
% forg, p &ed

(1) 39 sfyer g =R

(2) 259 Y g1 =6 |

(3) 3 % SR B AfEu

(4) 2.5 % STER B AT |

[Question ID = 42][Question Description = S6_Maths Content/Pedagogy_Q042]
1. 1 [Option ID = 165]
2. 2 [Option ID = 166]
3. 3 [Option ID = 167]
4. 4 [Option ID = 168]

) Number of degrees (°) in four and two-third of a right angle is :

(1) 310
(2) 330
(3) 420
(4) 400

(1) 310
2) 330
(3) 420
(4) 400
[Question ID = 43][Question Description = S6_Maths Content/Pedagogy_Q043]
1. 1 [Option ID = 169]
2. 2 [Option ID = 170]

3. 3 [Option ID = 171]
4. 4 [Option ID = 172]

" In which of the quadrilaterals - Rectangle, Square, Rhombus and Parallelogram, the

diagonals are perpendicular to each other ?
(I) Rectangle and Square

(2) Square and Rhombus
(3) Parallelogram and Rhombus
(4) Rhombus and Rectangle



Ay, o, TEEgss oI T =S § 9 T =wgeds o faol wweR o g €2
(1)  &Ar=d a1 =91

2) o qU gEHEgys

3)  HHFL =SS qU1 FHEgHsS

4)  HHIGYS a9 3

[Question ID = 44][Question Description = S6_Maths Content/Pedagogy_Q044]
1. 1 [Option ID = 173]
2. 2 [Option ID = 174]
3. 3 [Option ID = 175]
4. 4 [Option ID = 176]

(
(
(

1) Which of the fo]luwing ﬁguxes have no line of symmetry ?

(1) Isosceles triangle

(2) Kite
(3) Parallelogram
(4) Circle

o 8 4 Farm s 2 e e 7 A 47
(1) T

(2)  Tam
(3) EHR =g
(4 T4

[Question ID = 45][Question Description = S6_Maths Content/Pedagogy_Q045]
1. 1 [Option ID = 177]
2. 2 [Option ID = 178]
3. 3 [Option ID = 179]
4. 4 [Option ID = 180]

') 1f the volumes of two cubes are in the ratio 27 : 64, then the ratio of their total surface area
is:
(1) 27:64
2) 3:4
(3) 9:16
4) 3:8

AfE 31 T % S| 1 STIIE 27 < 64 , T 3T Fel TS TFe] H IFIIE © :

(1) 27:64
2) 3:4
3) 9:16
4) 3:8

[Question ID = 46][Question Description = S6_Maths Content/Pedagogy_Q046]
1. 1 [Option ID = 181]
2. 2 [Option ID = 182]
3. 3 [Option ID = 183]
4. 4 [Option ID = 184]



") The area of a rectangle of length 18 cm is equal to the area of a square of side 12 cm. Then,

the perimeter of the rectangle (in cm) is :

(1) 26
2) 36
(3) 52
@) 72

18 cm TTE 1 Uah 3474 1 &%l 12 cm 71 a6t Teh o & &5hel & sRIsK 2 | 39 373

(1) 26
) 36
(3) 52
4 72

[Question ID = 47][Question Description = S6_Maths Content/Pedagogy_Q047]
1. 1 [Option ID = 185]
2. 2 [Option ID = 186]
3. 3 [Option ID = 187]
4. 4 [Option ID = 188]

"®) The perimeter of a trapezium is 104 cm and each of its non-parallel sides is equal to 20 cm.
If its height is 16 cm, then its area (in cm?) is :

(1) 512
(2) 496
(3) 472
(4) 448

ot Tmeial o1 9T 104 cm © T ST Tedeh STHHTGY S 20 cm F SRR & | Afe STh! 391
16 cm ®, 1 39H 4% (em2H) B ¢

(1) 512
(2) 496
@) 472
(4) 448

[Question ID = 48][Question Description = S6_Maths Content/Pedagogy_Q048]
1. 1 [Option ID = 189]
2. 2 [Option ID = 190]
3. 3 [Option ID = 191]
4. 4 [Option ID = 192]

19) Which of the following is a characteristic of the median of a data ?

(1) It get affected by extreme scores of data.
(2) It is same as finding mean.

(3) Itis always equal to the value of (mean+mode) :
2

(4) It does not get affected by extreme scores of the data.



Trerferfaa & 9 $iH-m1 ffmsl & s o1 U Afqeriong 82
(1) 9% sifeRel = =RA i 9 gwifad g g
(2) IE W FE FH F gUH T

(3) aaﬂ%am; ST o 35 e 2 B

(4) ¥ SRS & wRH ARl J yefad 7L a1 7

[Question ID = 49][Question Description = S6_Maths Content/Pedagogy_Q049]
1. 1 [Option ID = 193]
2. 2 [Option ID = 194]
3. 3 [Option ID = 195]
4. 4 [Option ID = 196]

29 A box contains 10 slips with numbered 1 to 10 (one number on one slip) which have been
mixed well. One slip is chosen from the box without looking into it. What is the probability
of getting a number greater than 6 ?

1
0 3
@ =
3
@ 3
4
4) 3

forsft Teaat o 10 ufEaT vt 78 @ o W 1§ 10 7o o foedl g8 €1 (U T 08 Uk @) iR
3% o] wenR firen foon o 21 3 fesa § 9 fomn oit <@ uam v fyepredt Sl B 1 6 9 921 dem
YT B i YTFIhar 1 2

1
@ 3
2
@ 3
3
® 3
4
@ 3

[Question ID = 50][Question Description = S6_Maths Content/Pedagogy_Q050]
1. 1 [Option ID = 197]
2. 2 [Option ID = 198]
3. 3 [Option ID = 199]
4. 4 [Option ID = 200]



") Which among the following is NOT a key process to be developed in mathematical

reasoning ?

(1) Recognising patterns

(2) Memorising a formula
(3) Indentifying relationships
(4) Formulating hypothesis

ot fareram o fomrra § fFrefafea 8§ 9 o e meergl gfemn 78 &2
(1) Yo ggEr

(2) A g

(3) Y A HE

(4) uftepegr 1 A

[Question ID = 51][Question Description = S6_Maths Content/Pedagogy_Q051]
1. 1 [Option ID = 201]
2. 2 [Option ID = 202]
3. 3 [Option ID = 203]
4. 4 [Option ID = 204]

2 Which of the following is the most appropriate method to teach the identity (a + b)? using

chalk and blackboard ?

(1) Write (a+b)2=a2+b2+2ab on the blackboard and solve related problems as
examples

(2) Demonstrate the multiplication, (a +b)?=(a+ b) X (a+Db)
(3) Take a chart of identities in the classroom and help students memorise them
(4) Make a jingle and help the students memorise all such identities

=leh Td TAM Yg I IYAN] HL GG (a +b)2 o Toren =61 Freafafed o 9 = waifas suge
HoTie & ?

(1) ¥ 9 T (a +b)2=a2+ b2+ 2ab fefEn v Heftm gl =1 IeRwl % I8 W g Fifag
(2) (a+b)2=(a+b)X(a+b) % TUH ®I WEid Hifay

(3) e H W AfHewsl = U =R o SR AR famnfh %1 3% 9k # § e st
(4) gweiel siferg AR faenfea ) gdufamei %1 7 w9 § gerar #ifeg

[Question ID = 52][Question Description = S6_Maths Content/Pedagogy_Q052]
1. 1 [Option ID = 205]
2. 2 [Option ID = 206]
3. 3 [Option ID = 207]
4. 4[Option ID = 208]



23)

It has been observed that people involved in occupations that require mathematical skills
of computation and estimation like vendors, construction workers etc. are often not able
to cope up with formal school mathematics. Which of the following offers the most
appropriate explanation for this ?

(1)
(2)
(3)

(4)

School mathematics requires a different level of intelligence
Many people are inherently incapable of learning school mathematics

School curriculum usually does not incorporate ways of teaching-learning
specific to learners’ cultural context

People coming from these occupational backgrounds do not have time to
practice problems given in the textbook at home

=g W T ¥ TR S A U sanmi o wiow ¥ e eifiesrer i st o i s
e & S fashe, i e 8 52 wsig enfe 9 g So=niis Spet o & |1y grese
et forer wi | Frefafed & & & o1 395 ey | gaifas Suged oIredn <1 & ?

el Mo H giguar & U 1o TR H STEd ddl ©

3 SN THel o HE W sfdfe ffed w9 § srgem €a €

Tl UTSHTshH ST SAErTHeRdiel & |ikhfaew Has # fremr-sifirmy & qitei <1 gt
Tl A

T SHEEaE TRy § o1 arel @il & U SR W e i H gl T8 TRl 1 ey
T T TG

[Question ID = 53][Question Description = S6_Maths Content/Pedagogy_Q053]
1. 1 [Option ID = 209]
2. 2 [Option ID = 210]
3. 3 [Option ID = 211]
4. 4[Option ID = 212]

(1)
(2)
(3)

(4)

24)

A student in class VI gives the following statement in a mathematics class :

“A 3D shape can be transformed into a 2D shape”.

Which of the following concepts, the child is correctly applying to the above situation ?

(1)
(2)
()
(4)

Viewing objects from different sides
Scaling

Rotation

Symmetry

s faeneff = i &t Fen § Fefafag seasa/Fa fear-

ek S-St SRR w6 - SRR B wataner R < Tehan 17
Trefafaa o | w9 9 stgur &, swed feafa § o= 9@ &9 F 99T # @ e ?
el 1 ST 2Te SYEE § @

YIeehA/ G9! A

EA
Tufufa

[Question ID = 54][Question Description = S6_Maths Content/Pedagogy_Q054]
1. 1 [Option ID = 213]

(1)
(2)
(3)
(4)



2. 2 [Option ID = 214]
3. 3 [Option ID = 215]
4. 4 [Option ID = 216]

25)
It was observed that a class VII student was able to find the answer of 1 £18 E , but was

not able to give a real-life situation of application of the same. The reason could be :

(1) The teacher did not develop the idea of division of fractions using concrete materials
before introducing the standard algorithm

(2) There are hardly any real-life applications of fractions
( The student did not pay attention when the teacher was teaching the topic
(4) Division of fractions is a difficult concept for class VII student

H= 2
el

=T @1 T o A VI T ferene % +§W3ﬁ?mmw,ﬁﬂ%ﬁmﬁmﬁmﬁm

forelt wre & 3T YA & & RN | THeE H0 B Fehel § -

(1) Toremr 3 wFek e fafe =1 afte™ <7 9§ 98 qd 9l =1 39an & T3 6 fasrs &
fa=m =1 fasrm =& feran

) Tu=i =1 arafas Siee § v & i Sy &
(3) @ Torarn faw 9er @1 o o« feamned 4 == = fean
(4) =& VII % farnedi & fau 9= =1 favmsm o #ieq saymron @

[Question ID = 55][Question Description = S6_Maths Content/Pedagogy_Q055]
1. 1 [Option ID = 217]
2. 2 [Option ID = 218]
3. 3 [Option ID = 219]
4. 4 [Option ID = 220]

%) Which of the following is the most appropriate way to teach the middle school students

that mathematical probability of any outcome in a random event lies between 0 to 1 ?

(1) By writing the formula of probability as possible outcomes divided by total number
of outcomes

(2) By using videos based on solving problems on probability from internet
(3) By telling the students to do some experiments and verify
(4) By conducting a practical experiment of any random event like throwing a dice,

flipping a coin etc. and asking students to note the outcomes

Trfafaa § 9 si-w1, Areafes wha & gz & 98 wer & fou fe ww agf=es s |

et oft uftomm =it vt e 0 & 1 % <9 § oI ¥, waifs s alw 82

(1) Witz & 93 =1, Huifad qiomE 521 9iomdl 1 fa e i @@ foaed % gh

(2)  WIfoERdl st HHEAE] il B T W ARG gere 9 fou e fafean & v gm

(3) To=nfef=i =it 2 wER & 3R T F & o #Ed % gh

4) Tl oft =efeae e S ur ek, Tt soTer 211f o wrifTes W &t ST #Y
st femnfefl 1 s aftoml =1 sifera & % fow e & g/

[Question ID = 56][Question Description = S6_Maths Content/Pedagogy_Q056]
1. 1 [Option ID = 221]



2. 2 [Option ID = 222]
3. 3 [Option ID = 223]
4. 4 [Option ID = 224]

27)

According to many research studies, which of the following is the most appropriate reason

for gender based differences in mathematical achievement in school mathematics education.

(1)
(2)
()

(4)

Inherent differences in cognitive capacities of males and females
Persistent social stereotype carried outin classroom that mathematics is a male domain

A natural difference in males and females with respect to interests in learning
mathematics

Differences in physiological and biological features of males and females

e Y-l o A99R, Frefafad § 9 & 91 whe wfora e | i suaferi 7 st
T SuiRa 6 & Faifusm STge HR R 2
(1) &9l Ud giegensil 1 ST aaed | Havd (sfafHs) d@m

2

4

) e guud i wfead @ fr oftrg gedl = dm g
(3) o i it B | gefua gEu ok wfeensii ° v yewfas i@
(4) el iR Afeensll it TR o Sfaw fafreasd § o

[Question ID = 57][Question Description = S6_Maths Content/Pedagogy_Q057]
1. 1 [Option ID = 225]
2. 2 [Option ID = 226]
3. 3 [Option ID = 227]
4. 4 [Option ID = 228]

28)

(A)
(B)
©
(D)

At primary level, children’s thinking in mathematics progresses from :

abstract to concrete
complex to simple
simple to complex
concrete to abstract

Choose the correct option :

)
(2)
(3)
(4)

(A) and (B)
(B) and (C)
(A) and (D)
(C) and (D)



e T gz ford § s=) o e yofd o g

(A) S1d 9 Hd i 3

(B) ifedt § =¥ =l 3R
(C) =& 9§ Sifed 1 3R
(D) A H A HI 3R

el fasred & 997 it
(1) (A) ¥ (B)

(@) (B3R ©

(3) (A) (D)

4 (© s D)

[Question ID = 58][Question Description = S6_Maths Content/Pedagogy_Q058]
1. 1 [Option ID = 229]
2. 2 [Option ID = 230]
3. 3 [Option ID = 231]
4. 4 [Option ID = 232]

29)

(1)
2

(2)
(3)
(4)

s

Which among the following is an open ended question ?

Identify three objects which are in the shape of a cuboid

If sum of two numbers is 13 and their difference is 3, what are the numbers ?
Write as many as possible even prime numbers

Write even numbers, between 10 and 20 which are multiples of 2 and 3

Frrerferfiad o | i | weh ol R @ 99 &2

(1) 9 o et St TgEH FA S U HEheih o SRR H §

(2) afg < el @ 9 13 T 2R 3T A=K 3 8, 79 9 & dend # § 2
(3) e off Wy & Wk 3o STy e fafen

4) 10¥20% &= %1 3 99 wead fafae s 3 1 o &

[Question ID = 59][Question Description = S6_Maths Content/Pedagogy_Q059]
1. 1 [Option ID = 233]
2. 2 [Option ID = 234]
3. 3 [Option ID = 235]
4. 4 [Option ID = 236]

30)

Ms. Fathima, a class VIII mathematics teacher has given a group project on problem solving

in geometry to her students. She assessed her students over a period of time on various
parameters like their analytical skills, problem solving skills, presentation skills; participation
in group discussions etc. Which assessment tool will NOT be appropriate for this

purpose ?
(1) A Rating Scale

(2) An Interview Schedule
(3) A Checklist
(4) Rubrics



&1 VI ot ford ferfersst gt wfamn 1 eqq foenfel= = safafd 5 gwe gaee © o 998
fEsT €1 M $9 w9d a9 A feenfe @ eveem fafie wradl S8 s favemm
THIVE, FEHAT T e, WeIH e, ¥HE uREE HO9F o 1 shee genfe W T
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(1) & e whd

(2) UF HIETEHR TR

(3) uh uH fer/sia gt

4) wfam

1[Q:n{e;ti9n III; =263(;j|[Question Description = S6_Maths Content/Pedagogy_Q060]

2. 2 [Option ID = 238]

3. 3 [Option ID = 239]
4. 4 [Option ID = 240]

Topic:- SCIENCE_P2_CTET

1)

Two wires forming the open ends of a circuit consisting of a bulb and an electric cell are dipped in
the following liquids one by one and it is noted whether the bulb in the circuit glows or not.
Following are the observations :

liquid Bulb glows or not
A v
B X
C X
D v

A, B, Cand D could be :

(1) copper sulphate, sugar solution, distilled water, salt water
(2) sugar solution, distilled water, salt water, copper sulphate
(3) distilled water, salt water, copper sulphate, sugar solution
(4) salt water, copper sulphate, sugar solution, distilled water

e fagd 9 3R 9ed | 94 fogga aftuy & 2 ga o a9t 91 ) Uh-UF e frefafed 29 J gaa
AT SR e o T TR aes sten @ A2 | R T steere frefafed €

L] EePHE IR
A v

B X

C b

D v

A, B,C Dgd & Thd &

o

(1) I Fehe, FH 1 faer, arga §id, aavid s
(2) i S faerEE, STgd S, dauid S, Hia 9ok
(3) gd Sl Seviig S, SR gede, = & faerm
(4) @FUIT e, HIL Gewhe, dIH1 1 faemH, SAd sie



[Question ID = 61][Question Description = S6_Science_Q061]
1. 1 [Option ID = 241]
2. 2 [Option ID = 242]
3. 3 [Option ID = 243]
4. 4 [Option ID = 244]

2) The conversion of milk into curd is :
(1) Physical and Reversible change
2

(2)
(3) Chemical and Reversible change
(4)

Physical and Irreversible change

Chemical and Irreversible change

39 1 T8l § 9iE ¢

(1) T vifaer oK Sermeg afgdT 21

(2) UF Wifaw IR TR TREdT T
(3) UF TEEFTE AR SoETviE IR 2
(4) U TEEMAE AR AR RadT 8

[Question ID = 62][Question Description = S6_Science_Q062]
1. 1 [Option ID = 245]
2. 2 [Option ID = 246]
3. 3 [Option ID = 247]
4. 4 [Option ID = 248]

3)
W is a chemical substance used in antacids as well as cleaning and baking products. It's chemical

nature is _ X . When turmeric solution is added to X, it turns _ Y . The common name of W
is_Z . W, X, Y, Zrespectively are :

(1) sodium carbonate, basic, bluish, washing soda

(2) sodium hydroxide, acidic, reddish, baking soda

(3) sodium bicarbonate, basic, reddish, baking soda
(4) sodium bicarbonate, acidic, reddish, washing soda

Wt e verd ¥ e suEm wefge & my-mny w ofi dfd sael o o foeen o €1 g5t
TEEAE Wpfd X 1 X H gt &1 faorzd e W ag Y H uiafda &1 Sian § 1 W 9= A
_Z BIW, XY, ZFA:

(1) wHifsad FEi-e, aekE, T, Jise d@e

(2) wifeTd BEEEMEE, SR, @, dfdT Fie

(3) wifeam aEHEe, Ak, T, ST dEn

(4) Hifeaw aEFEAe, A, Trd, a0

[Question ID = 63][Question Description = S6_Science_Q063]
1. 1 [Option ID = 249]
2. 2 [Option ID = 250]
3. 3 [Option ID = 251]
4. 4 [Option ID = 252]



4 Read the following statements regarding viruses and choose the correct statements :
(A) They lack cellular structure

(B) They contain DNA or RNA

(C) They are smallest living micro-organisms
(D) They can reproduce on their own

(1) (A)and (Q)

() (A)and (B)

(3) (B)and ()

(4) (C) and (D)

fommoyedi % ded ¥ frefafad Fuei =i ufgd o) et S = 999 Fif
(A) TTH FITRE T & e |
(B) STH DNA 1 RNA B €1

(C) & e Shfad o 1

(D) 3 TF U T T & |
(
(
(3

1) (A) R (Q)
2) (A) ¥R (B)
) (B) ¥R (C)
4) (O ¥R (D)

[Question ID = 64][Question Description = S6_Science_Q064]
1. 1 [Option ID = 253]

2. 2 [Option ID = 254]

3. 3 [Option ID = 255]

4. 4 [Option ID = 256]

5)

Seismograph is an instrument used to measure the intensity of earth quakes. Seismograph mainly
consists of a :

(1) vibrating rod

(2) electrical conductor
(3) electromagnet
(4)

4 barometer

T S U U A § e S s # e A 8 feen e 31 e o § e
(1) T T
(2) fomg =
(3) Toerd gak
(4) ST

[Question ID = 65][Question Description = S6_Science_Q065]
1. 1 [Option ID = 257]
2. 2 [Option ID = 258]
3. 3 [Option ID = 259]
4. 4 [Option ID = 260]



6)

Which of the following represent correct set of organisms with their respective respiratory organ ?

Organism Respiratory organ

(A) Earthworm () Gill

(B) Cockroach (I) Skin

(C€) Deolphin (IIT) Tracheal system

(D) Snail (IV) Lungs

(1) (A}, (B)-(II), (C)-(IV), (D)-(I)

(2)  (A)(I), (B)-(I), (O)-(I), (D)-(IV)

(3)  (A)-I), (B)-(ID), (O)-(D), (D)-(IV)

(4) (A)-(ID), (B)-(IV), (O)-D), (D)-(I)

Freferfaa o & el 3t 7% varae il 1 HH-81 TeaT Tel 8 ?
EiE] vEEA 3T

(A) HgeT ) FEE

(B) R () &=

(C) Sifew (IIT)  YeITTeA ol

(D) = (V) FFEEH

(1) (A)-(1I), (B)-(III), (C)-(IV), (D)-(T)

(2) (AR, (B)-(I), (O)-(D), (D)-(IV)

(3)  (A)-(Im), (B)-(ID, (©)-(I), (D)-(IV)

(4) (A, (B)-(IV), (O-1), (D)-(1I)

[Question ID = 66][Question Description = S6_Science_Q066]
1. 1 [Option ID = 261]
2. 2 [Option ID = 262]
3. 3 [Option ID = 263]
4. 4 [Option ID = 264]

7)
The sound travels from water into an iron rod and then into air and back into water. The speed
of sound will successively :

(1) increase, increase, decrease
(2) decrease, increase, increase
(3) increase, decrease, increase
(4) decrease, increase, decrease

A T e W T wie i 98 H T FHl 8 R R arg § 7f et g8 a9 5ia § ot €1 eafq @6t vfa
o SHE9L: B0

(1) dfs, 3fs, &=
(2) @M, 9fg, afs
(3) dfs, =, 3fs
(@) =™, gfg, 7™

[Question ID = 67][Question Description = S6_Science_Q067]



1
2
3.
4

. 1 [Option ID = 265]
. 2 [Option ID = 266]
3 [Option ID = 267]
. 4 [Option ID = 268]

8 Read the following statements and choose correct response :

Assertion (A) : There is no frictional force acting on a stationary car.
Reason (R) : Friction acts only on moving objects.
(1) Both (A) and (R) are correct and (R) is correct explanation of (A).

(2) Both (A) and (R) are correct but (R) is not correct explanation of (A).
(3) (A) is correct but (R) is false
(4) Both (A) and (R) are false

Frefafad wuai 1 ufgd 3R §el 39 &1 =99 Fi
Afumae (A) : TRl fer %R W #5990 39 FE 7@ |
HROT (R) : =907 el asfier asgedi 7 & w7

(1)
(2)
(3)
(4)

(A) 3T (R) ST T@l & 37 (A) FT (R) HEl =0 Fm

(A) 3R (R) 3F1 W&l §, Foh=g (A) =T (R) WET =&AT 6] ol € |
(A) H&l & g (R) 7Ted 21

(A) 3R (R) SHI Terd 2|

[Question ID = 68][Question Description = S6_Science_Q068]
1. 1 [Option ID = 269]
2. 2 [Option ID = 270]
3. 3 [Option ID = 271]
4. 4 [Option ID = 272]

9)
Reena takes a plastic bottle and makes three identical holes at different levels of the bottle. She fills

the bottle and observes water flow. Which of the following statements about her observation and
inference is correct ?

(1)
(2)

(3)
(4)

The water comes out of all the three holes with same force and falls at the same distance

The water from the topmost hole comes out with the least force and falls at the minimum
distance

The water from the topmost hole comes out with most force and falls at the maximum distance
The water from the bottom hole comes out with least force and falls at minimum distance

1 A s #1 U diga o 21 39 fafv= 9a v adag @ fog 99w 39+ 9ad &1 9 9 9T fean
S ST % Yo & Uy fean Freafafaa § 9 99 9 %99 395 sacie ofr fasnsl & an § et 82

(1)

St 1Al fBdl § | FHE o § 9 34 SR UhEAE gl W R

el gat=d fog § =g oa § SR e 3R e ol W

St at=d fog 9 i oo |fed 9t s SR Aftemas g @ fim)
Sl fraet fog 9 =as 9a | 9l o SR A 3 7w

[Question ID = 69][Question Description = S6_Science_Q069]
1. 1 [Option ID = 273]
2. 2 [Option ID = 274]
3. 3 [Option ID = 275]



4. 4 [Option ID = 276]

19 Which of the following statements is true ?
(1) Soils with slow percolation rate retain more moisture

(2) Roots of plants, humus and organic matter increases percolation rate
(3) Fast percolation rate helps in better absorption of water by roots
(4) Soils which have large particle size have slow percolation rate

Frefafad e § 9 $F-9 F99 99 © 2

(1) v gfeE 3 i gemsi § sifus sdar & 2

(2) U, @ Azt iR FefTs uee ufean R 1 gfg = €
(3) e afteE 5T SIS i el STEuitig @ H Heg il ¢
(4) oEd U % SRR T gersi Hi qREEn g i Edt

[Question ID = 70][Question Description = S6_Science_Q070]
1. 1 [Option ID = 277]
2. 2 [Option ID = 278]
3. 3 [Option ID = 279]
4. 4 [Option ID = 280]

) Which of the following materials is best suited to make a fuse wire ?
Material Melting point Resistivity

A High High
B Low High
C High Low
D Low Low

1) A

(2) B

(3) C

(4 D

RIS a1 & i & fon e #§ 9 se-w1 ved gaifus suge €
Tare TeAich  Wiaiisrehar

A i) 3=
B = 3=
c 3 =
D = =
(1H A
(2 B
(3) C
(4 D

[Question ID = 71][Question Description = S6_Science_Q071]
1. 1 [Option ID = 281]
2. 2 [Option ID = 282]
3. 3 [Option ID = 283]
4. 4 [Option ID = 284]



12)
Read the following sentences about transpiration in plants :

(A) Transpiration creates suction pull which causes water to reach great heights in tall trees.
(B) Transpiration helps in maintaining optimum body temperature in plants.

(C) Transpiration helps in absorption of water by the roots.

Which of the following statements is/are correct ?

(1) (A)and (B)
(2 (A)and (C)
(3) (B) and (C)
(4)  (A) (B) and (C)
gl # ardres % He § frefertaa sl w1 e

(A) BTSIICHSH TV 96 e HIA1 § 91 39 Fel § el B SRl 9% v § |

(B) aTSiieEs Wi # sTgerdd aaHE Hqfd w1 H Heg i o |
(C) dToITegsi STl sl St o STEreieoT § Terdl idl ¢ |

freiferfiad ¥ & Fi qUa s w2
(1) (A) ¥R (B)

(2) (A) Q)

(3) (B) ¥R (C)

4 (A), B) #R(©Q)

[Question ID = 72][Question Description = S6_Science_Q072]
1. 1 [Option ID = 285]
2. 2 [Option ID = 286]
3. 3 [Option ID = 287]
4. 4 [Option ID = 288]

'3 If a clock shows quarter past three, how would it appear in a mirror ?
(1) Quarter past three

(2) Quarter past nine
(3) Three Quarters past nine
(4) Three Quarters past three
afe #IE =St Te A ST &, 99 Fe i H Fan fewm ?
(1) e =
(2) wErA
(3) dEA
(4) 9F
[Question ID = 73][Question Description = S6_Science_Q073]

1. 1 [Option ID = 289]
2. 2 [Option ID = 290]
3. 3 [Option ID = 291]
4. 4 [Option ID = 292]



'Y Hens are and type of fertilisation takes place in them.

(1) oviparous, internal

(2) oviparous, external
(3) wviviparous, internal
(4) wviviparous, external

it T § o 3 == 2 B

(1) STUEYSh, I
(2) ATSYSTE, AR
(3) HSaysEh, A
(4) HefraysER, =Tl

[Question ID = 74][Question Description = S6_Science_Q074]
1. 1 [Option ID = 293]
2. 2 [Option ID = 294]
3. 3 [Option ID = 295]
4. 4 [Option ID = 296]

1) The time period of a simple pendulum does not depend on :
(1) length of pendulum, mass of bob, material of the bob

(2) length of pendulum, distance between two extreme positions
(3) mass of the bob, material of the bob
(4) length of pendulum, shape of bob

fordt wee wieres 1 Fematy i 78 #

(1) etk i @ars, e & GoFHH, Tieih & a T
(2) Tk I W, & guad feafai | gt w

(3) TIeTeh o ZeAHM, el o 9818 T

(4) ATH hl EaE, TeAh  ATHR T

[Question ID = 75][Question Description = S6_Science_Q075]
1. 1 [Option ID = 297]
2. 2 [Option ID = 298]
3. 3 [Option ID = 299]
4. 4 [Option ID = 300]

'®) Which of the following plays most crucial role in disaster management of cyclones ?
(1) Evacuation of people

(2) Monitoring distribution of resources
(3) Helping people to build houses
(4) Early and effective forecast systems



Fehawdl o Harfauel geHA H frefatad § 9 $F 2@ i e g ?

(1) < ri =T R
(2) HeEE % oo wt SEa
(3) @ = fmi § Heg
(4) YRS T guET gEgEA o
[Question ID = 76][Question Description = S6_Science_Q076]

1. 1 [Option ID = 301]
2. 2 [Option ID = 302]
3. 3 [Option ID = 303]
4. 4 [Option ID = 304]

17)
The distance between Delhi and Agra is 180 km. Seeta travels in a car from Delhi to Agra and it
takes her 5 hours to reach Agra. While returning, if the speed of the car is 60 km/hr, what is the

time taken to complete the entire journey and what is the average speed of the car for this
journey ?

(1) 6 hours, 40 km/hr

(2) 8 hours, 45 km/hr
(3) 8 hours, 47 km/hr
(4) 10 hours, 47 km/hr

feeett 3R @ % 97 <t 180 fop. . 1 dian R g1 faoell & 2 9o et @ R S8 SR g §
5% @ 1 ded g, Afg HR T fd 60 R /5 & @9 qit Amn | fore wHg @i o ow A %
B R i v R 2t ?
(1) 6 %2, 40 T, /e
(2) 8 He, 45 feRHl. /5
(3) 8 He, 47 ThHI. /s
(4) 10 %2, 47 TR /5
1[Q:u[a;lt;:; |I|; :31:]][Question Description = $6_Science_Q077]
2. 2 [Option ID = 306]

3. 3 [Option ID = 307]
4. 4 [Option ID = 308]

18)

The shape of Red blood cells (RBCs) help in exchange of gases by providing large surface area. The
shape of RBCs is :

(1) long and thin
(2) Flat

(3) Disc shaped
(4) Branched



AT T HISERIST (RBC) I SR g8 I8 &5%a Jar L T4 & faf9g § #8g & 81 RBC &
W%:

(1) a1 us gdel

(2) =9=A

(3) % o ATHR H

(4) wmiEa

[Question ID = 78][Question Description = S6_Science_Q078]

1. 1 [Option ID = 309]

2. 2 [Option ID = 310]

3. 3 [Option ID = 311]

4. 4 [Option ID = 312]

19)
Which of these statements is not true if X and Y are elements and combine to form a
compound Z ?
(1) Atoms of X and Y are same

(2) Atoms of X and Y are present in Z

(3) Atoms of X, Y and Z are different

The distribution of atoms in Z is different from both X and Y

Ifg X 3R Y 9 § 2R 9aeF L 91 Z 991 €, 99 Fefafad § 9 99 599 O T8 § 2

(1) X 3R Y ¥ W] UHEaE T |

(2) X 3R Y% o] Z # Iufeyq €)

(3) X, Y &Rz % g fa=-fam €1

(4) 7 ¥ weEmped @ faere, X iR v 2§ i

[Question ID = 79][Question Description = S6_Science_Q079]

1. 1 [Option ID = 313]

2. 2 [Option ID = 314]

3. 3 [Option ID = 315]

4. 4 [Option ID = 316]

20)
Seema takes four test tubes and labels them as (A), (B), (C), (D). She puts an iron nail in each of the
test tube and puts the following :

(A) -oil

(B) -soda lime

(C) -hot water

(D) -tap water

She closes all the test tubes and writes observations after few days.

Which of the following observations is correct ?

(1) In test tube (A) and (C), the iron nail is rusted whereas in (B) and (D), it is not rusted

(2) In test tubes (A) and (B), the iron nail is rusted whereas in (C) and (D), it is not rusted
(3) In test tube (D), the iron nail is rusted whereas in (A), (B) and (C) it is not rusted
)

(4) In test tube (C), the iron nail is rusted whereas in (A), (B) and (D) it is not rusted



G 3 IR WAl o @R 3R (A), (B), (C), (D) THifEs fFan 1 SHH yeis WA | @i # i%-UF
e e 2R Fefated v o= -

(A) da

(B) eI

(C) TH A

(D) - & 5

39 9ot wEHtaEr | 1 oi F A % qeEra dami e foan
Frafafad & & wE-a1 e wet &2

(1) W(A)ﬁ?(@ﬁ@%ﬁﬁawwaﬂwmﬁwﬁm) (D) S & & |

(2) @ (A) SR (B) | WIe I il I S ¥ T Sah qEHel (C) R’ (D) H, S T8 e |
(3) WEAE! (D) H &g i el 9L ST o7 T S6fh WEE (A), (B) R (C) H et TS T @
(4) wTETE (C) § @Ie i hiel T ST @ T SEh (A), (B) $R (D) H hid 9 S A& o |

[Question ID = 80][Question Description = S6_Science_Q080]
1. 1 [Option ID = 317]
2. 2 [Option ID = 318]
3. 3 [Option ID = 319]
4. 4 [Option ID = 320]

21) Which of the following statements is/are true regarding Nature of Science ?
(A) Science promotes Scepticism

(B) Science is always objective

(C) Science is interdisciplinary

(D_) Science is same across all cultures
(1) (A) (B)

2 (B (C)

3 (©) O

4 (A) (

foam =t ypfa & Heof & f=1 o | %7 W8 Fun g3 /8
(A) oI Hegame =1 Sg@ ol 2 |
(B) Tormm welET s €

(C) fomm sfa: fawdt s1emem 7

(D) fomm @it HEhfadl § ThRaHE 2
(1) (A), (B)

(2)  (B) ©

(3) (©), D)

(4) (A), (©)

[Question ID = 81][Question Description = S6_Science_Q081]
1. 1 [Option ID = 321]
2. 2 [Option ID = 322]
3. 3 [Option ID = 323]
4. 4 [Option ID = 324]



22)

‘Naive conceptions” which children have about various science concepts and phenomenon ?

(1) should be ignored by teacher as they are irrelevant

(2) should be replaced by telling the correct ones

(3) should be cha]lenged by counter evidence

(4) should be used for grading of correct understanding of concepts

fafsr defer Huerll ud afteee & faw 5 o= #1 S 9o 999d ' §
(1) d forerer g st fom s =nfen =#ife 3 sTumwifit 2 |

(2) =% a1 F R HaedEl g foeafia se-afen

(3) = faws THI R A <A1 =y |

(4) EYHA ! HEl THF o [T ARe & fIw W KT =fen |

[Question ID = 82][Question Description = S6_Science_Q082]
1. 1 [Option ID = 325]
2. 2 [Option ID = 326]
3. 3 [Option ID = 327]
4. 4 [Option ID = 328]

23) Presenting non examples of a concept in Science :

(1) promotes conceptual understanding

(2) leads to conceptual gaps
(3) leads to confusion
(4) enhances procedural knowledge

form & Tyl o 1T SeTet wEd w
(1) Ty i Tog T Wediied Ha g1
(2) Tyl #1 A w iR swaia R
(3) o i TR
(4) faferas s 1 sigm@T SO 2
1[Q:u[egtitgn I||[)> =38223]][Question Description = S6_Science_Q083]
2. 2 [Option ID - 330]

3. 3 [Option ID = 331]
4. 4 [Option ID = 332]

24 Which of the following statements portrays a constructivist science classroom ?
(A) The role of dialogue is given attention

=

Students” multiple perspectives are acknowledged
Connection between Science and other subject areas is highlighted

9

(

(

(D) Objectivity in responses is given importance

(E) Assessment focuses on correct and scientific responses
(1) (©), D), (E)

(2 (A) (B) (©)

(3 (A), (B), (E)

(4 (B), (D), (E)



99 § 9 -9 99 U TS o= FHerehet 1 a2 2
(A) Harg s Yy W e fom S 2

(B) fenfeldi & ager uftieai 1 W d foran S 2

(C) faam g e fawm &nii & el v fad =t foan st &1

(D) o H g &1 v fen s 2

(E) WA |el ud da1feh 39U U2 Shifgd aa €|

(

(

(

) (©) D) (E)
2 (&) (B) (©)
3) (A) (B), (E)
(4)  (B), (D), (E)

[Question ID = 84][Question Description = S6_Science_Q084]
1. 1 [Option ID = 333]
2. 2 [Option ID = 334]
3. 3 [Option ID = 335]
4. 4 [Option ID = 336]

2% An inclusive science classroom is characterized by :

(1) Standardized assessment

(2) Individualized instructional plans
(3) Uniform curriculum and instruction
(4) Instruction by special educators

U FHEE fawe warw o fafire dem
(1) WrFTET qedE

(2) SafEs e g

(3) WHEY Y= d iy

(4) fafore foeeni gra few

[Question ID = 85][Question Description = S6_Science_Q085]
1. 1 [Option ID = 337]
2. 2 [Option ID = 338]
3. 3 [Option ID = 339]
4. 4 [Option ID = 340]
26)
A student suspends a barmagnet by a thread and writes the following statements in her copy :

S1 - The bar magnet comes to rest in such a position that one end points in the north and the other
in the south direction

S2 - A freely suspended magnet aligns in North - South direction
Which of the following statements is/are correct ?

(1) S1 is observation and S2 is inference

(2) Sl1 is inference and S2 is observation

(3) Both S1 and S2 are observations

(4) Both S1 and S2 are inferences



TF 911 A U B ga& 1 971 § @2h@l Td A9 Hdl H 997 wyF fag
S1 - e Jask fagm #i tH feufa § s fo 3w v fau 3w aen gou fau afam feon =t eiv gfim

B
S2 - U He Fefad geeh Iu-gfam feen # wifaa 2
=1 H | i 1A FU gE @k ?

(1) Sl sfaer & e s2 frerd 7
(2) S1 frepd & @liR S2 sTacieRT T
(3) S17TdS2 T SEHA B |

(4) S1TES2 g frsrd €

[Question ID = 86][Question Description = S6_Science_Q086]
1. 1 [Option ID = 341]
2. 2 [Option ID = 342]
3. 3 [Option ID = 343]
4. 4 [Option ID = 344]
27)

Which of the following is a divergent question ?

(1) Why is venus called an evening star ?

Why does lunar eclipse take place on a full moon day ?

(2)
(3) What would happen if the periods of rotation and revolution of moon were not the same ?
(4) Why is mercury the hottest planet ?

4 | | HF-1 9% A9Hid g E 7

(1) 3 = T T/ i Fad 82
(2) =gwrew yftfe & fo == 8w ?
(3) 0 B afe =gHn % ol ud ufERT S srEfy TeheEE A a2
(4) = FaEifEes T 7E 6 g2
1[Q:u[a;tit9n |I|; =3i:]][Question Description = Sé_Science_Q087]

2. 2 [Option ID = 346]
3. 3 [Option ID = 347]
4. 4 [Option ID = 348]
28)
A teacher gives the following task to the students of class VIIL.

“Interview 10 children from your neighbourhood to find our their food habits and diet. On the
basis of information collected, identify the healthy diet patterns in the children”

Which process skills are being promoted by this activity ?
(1) observing, defining operationally

(2) communicating, defining operationally
(3) observing, questioning
(4) observing, communicating



T e F e VI & faenfei =1 fFrafafaa w0 femn -

"SI TSI % 10 I % HAER U HISH i TGl ol J1d HE o (AT 3T SR A | 9 G=1 6
HER W F=d] § @y ARR & Yo i ve=E w1

39 forarramy g foa wfskan el @l dieanfed feram mn 22

(1) Agcie, giErees 9T sHEE

(2) U gftarers 9iersn S

(3) STEEHA, I gl

(4) SAIEHA, HI

1[Q:1([a;ti9n |I|; =3i£;]][Question Description = $6_Science_Q088]

2. 2 [Option ID = 350]

3. 3 [Option ID = 351]
4. 4 [Option ID = 352]

29)
To encourage girls to pursue STEM related careers, which of the following strategies can a science
teacher use ?

(A) Use gender sensitive language

(B) Invite women scientists to class

(C) Engage students in examining stereotypes
(D) Make gender based groups in class

(E) Have separate instruction for girls

(1) (A), (B), (D)

(2)  (A) (B) (©)

(3) (O, D) E)

(4 (&) (B) (E)

aifeeradi 1 STEM Heiferd U9 97+ & fou famm =1 ws e 01 § 9 SA-91 g =1 3wEm &
el 87

(A) felm gaEt v =1 3

(B) oFeqn ¥ wfeen dsfenl 1 S e

(C) F@uRuNS =i Sitan & forg farnfefi =1 wiwfem e
(D) e #H fer snenfid 98 s

(E) =fearei & foa gore fda e
(1) (A), (B), (D)
(2) (&), (B), (©
(3) (©), (D), (E)
(4) (A) (B ) (E)

[Question ID = 89][Question Description = S6_Science_Q089]
1. 1 [Option ID = 353]
2. 2 [Option ID = 354]
3. 3 [Option ID = 355]
4. 4 [Option ID = 356]

30)



Which of the following strategies are desirable for assessing learners meaningfuly in Science ?
(1) Same tasks should be given to all learners for parity

(2) Learners’ wrong answers should be ignored

(3) Learners’ reasoning should be given importance

(4) Importance should be given to precise vocabulary and definitions

foram § sifermoersisli & erefqul Yoo & fou f=1 5 9 [ 9t Aism aiga 22
(1) wwrEdl & faa gt sfrmerien 1 wweq %1 oA

(2) AferTHERTIS & e ST I ASK TS FHEAT

(3) AfermeRisdi wt faa= 1 HEE S

(4) gfeaa e Td uframmsdi #1 Tee

[Question ID = 90][Question Description = S6_Science_Q090]
1. 1 [Option ID = 357]
2. 2 [Option ID = 358]
3. 3 [Option ID = 359]
4. 4 [Option ID = 360]

Topic:- ENG_Q91-99_L1_P2_CTET

1

Read the passage given below and answer the question/complete the statements that follow
by choosing the correct options out of the given ones.

On the night of the day on which this cruel deed was done, I was aroused from sleep by the
cry of fire. The curtains of my bed were in flames. The whole house was blazing,. It was with great
difficulty that my wife, a servant, and myself, made our escape from the conflagration. The
destruction was complete. My entire worldly wealth was swallowed up, and I resigned myself
thenceforward to despair.

I am above the weakness of seeking to establish a sequence of cause and effect between the
disaster and the atrocity. But [ am detailing a chain of facts- and wish not to leave even a possible
link imperfect. On the day succeeding the fire, I visited the ruins.

The walls, with one exception, had fallen in. This exception was found in a compartment
wall, not very thick, which stood about the middle of the house and against which had rested the
head of my bed. The plastering had here, in great measure, resisted the action of the fire-a fact
which I attributed to its having been recently done.

About this wall a dense crowd had collected, and many persons seemed to be examining a
particular portion of it with very minute and eager attention. The words, “strange’ ! “singular |” and
other similar expressions, excited my curiosity. I approached and saw, as if etched in bas relief
upon the white surface, the figure of a gigantic cat. The impression was given with an accuracy
truly marvellous. There was a rope about the animal’s neck.

The narrator was sorry because :

(1)  his house had caught fire.

(2) he had to resign.

(3) e had to shift to a new house.
(4) he had to buy new curtains.

[Question ID = 151][Question Description = S6_English Content/Pedagogy_Q091]
1. 1 [Option ID = 601]
2. 2 [Option ID = 602]
3. 3 [Option ID = 603]



4. 4 [Option ID = 604]

2)
Read the passage given below and answer the question/complete the statements that follow
by choosing the correct options out of the given ones.

On the night of the day on which this cruel deed was done, I was aroused from sleep by the
cry of fire. The curtains of my bed were in flames. The whole house was blazing,. It was with great
difficulty that my wife, a servant, and myself, made our escape from the conflagration. The
destruction was complete. My entire worldly wealth was swallowed up, and I resigned myse]f
thenceforward to despair.

I am above the weakness of seeking to establish a sequence of cause and effect between the
disaster and the atrocity. But [ am detailing a chain of facts- and wish not to leave even a possible
link imperfect. On the day succeeding the fire, I visited the ruins.

The walls, with one exception, had fallen in. This exception was found in a compartment
wall, not very thick, which stood about the middle of the house and against which had rested the
head of my bed. The plastering had here, in great measure, resisted the action of the fire-a fact
which I attributed to its having been recently done.

About this wall a dense crowd had collected, and many persons seemed to be examining a
particular portion of it with very minute and eager attention. The words, ‘strange’ ! ‘singular I and
other similar expressions, excited my curiosity. I approached and saw, as if etched in bas relief
upon the white surface, the figure of a gigantic cat. The impression was given with an accuracy
truly marvellous. There was a rope about the animal’s neck.

Study the following statements :
(@) The narrator was keen to know the cause of the fire.
) The fire reduced him to poverty.
(1) (a) is true and (b) is false. |
) (b) is true and (a) is false.
) Both (a) and (bj are true.
(4) Both (a) and (b) are false.
[Question ID = 152][Question Description = S6_English Content/Pedagogy_Q092]
1. 1 [Option ID = 605]
2. 2 [Option ID = 606]

3. 3 [Option ID = 607]
4. 4 [Option ID = 608]

3)



Read the passage given below and answer the question/complete the statements that follow
by choosing the correct options out of the given ones.

On the night of the day on which this cruel deed was done, I was aroused from sleep by the
cry of fire. The curtains of my bed were in flames. The whole house was blazing,. It was with great
difficulty that my wife, a servant, and myself, made our escape from the conflagration. The
destruction was complete. My entire worldly wealth was swallowed up, and I resigned myself
thenceforward to despair.

I am above the weakness of seeking to establish a sequence of cause and effect between the
disaster and the atrocity. But [ am detailing a chain of facts- and wish not to leave even a possible
link imperfect. On the day succeeding the fire, I visited the ruins.

The walls, with one exception, had fallen in. This exception was found in a compartment
wall, not very thick, which stood about the middle of the house and against which had rested the
head of my bed. The plastering had here, in great measure, resisted the action of the fire-a fact
which I attributed to its having been recently done.

About this wall a dense crowd had collected, and many persons seemed to be examining a
particular portion of it with very minute and eager attention. The words, ‘strange’ ! “singular " and
other similar expressions, excited my curiosity. I approached and saw, as if etched in bas relief
upon the white surface, the figure of a gigantic cat. The impression was given with an accuracy
truly marvellous. There was a rope about the animal’s neck.

Which of the following statements is TRUE ?

(1) Fear of being burnt made the narrator wake up.
(2) His servant helped his wife to escape.

(3) Only a part of his wealth was saved.

(4) A thin wall divided the house into two parts.

[Question ID = 153][Question Description = S6_English Content/Pedagogy_Q093]
1. 1 [Option ID = 609]
2. 2 [Option ID = 610]
3. 3 [Option ID = 611]
4. 4[Option ID = 612]

4)



Read the passage given below and answer the question/complete the statements that follow
by choosing the correct options out of the given ones.

On the night of the day on which this cruel deed was done, I was aroused from sleep by the
cry of fire. The curtains of my bed were in flames. The whole house was blazing,. It was with great
difficulty that my wife, a servant, and myself, made our escape from the conflagration. The
destruction was complete. My entire worldly wealth was swallowed up, and I resigned myself
thenceforward to despair.

I am above the weakness of seeking to establish a sequence of cause and effect between the
disaster and the atrocity. But [ am detailing a chain of facts- and wish not to leave even a possible
link imperfect. On the day succeeding the fire, I visited the ruins.

The walls, with one exception, had fallen in. This exception was found in a compartment
wall, not very thick, which stood about the middle of the house and against which had rested the
head of my bed. The plastering had here, in great measure, resisted the action of the fire-a fact
which I attributed to its having been recently done.

About this wall a dense crowd had collected, and many persons seemed to be examining a
particular portion of it with very minute and eager attention. The words, ‘strange’ ! “singular " and
other similar expressions, excited my curiosity. I approached and saw, as if etched in bas relief
upon the white surface, the figure of a gigantic cat. The impression was given with an accuracy
truly marvellous. There was a rope about the animal’s neck.

Which of the following statements is NOT TRUE ?

(1) The narrator wants to describe all the facts in detail.

(2) Only one wall remained safe.

(3) The narrator used to sleep with his head towards the wall.
(4) This wall saved the narrator’s life.

[Question ID = 154][Question Description = S6_English Content/Pedagogy_Q094]
1. 1 [Option ID = 613]
2. 2 [Option ID = 614]
3. 3 [Option ID = 615]
4. 4[Option ID = 616]

5)



Read the passage given below and answer the question/complete the statements that follow
by choosing the correct options out of the given ones.

On the night of the day on which this cruel deed was done, I was aroused from sleep by the
cry of fire. The curtains of my bed were in flames. The whole house was blazing,. It was with great
difficulty that my wife, a servant, and myself, made our escape from the conflagration. The
destruction was complete. My entire worldly wealth was swallowed up, and I resigned myself
thenceforward to despair.

I am above the weakness of seeking to establish a sequence of cause and effect between the

disaster and the atrocity. But [ am detailing a chain of facts- and wish not to leave even a possible
link imperfect. On the day succeeding the fire, I visited the ruins.
The walls, with one exception, had fallen in. This exception was found in a compartment
wall, not very thick, which stood about the middle of the house and against which had rested the
head of my bed. The plastering had here, in great measure, resisted the action of the fire-a fact
which I attributed to its having been recently done.

About this wall a dense crowd had collected, and many persons seemed to be examining a
particular portion of it with very minute and eager attention. The words, ‘strange’ ! “singular " and
other similar expressions, excited my curiosity. I approached and saw, as if etched in bas relief
upon the white surface, the figure of a gigantic cat. The impression was given with an accuracy
truly marvellous. There was a rope about the animal’s neck.

Study the following statements :
(@) A number of people came to console the narrator.
) They wanted to know the cause of the fire.
) (a) is right and (b) is wrong.
2)  (b) is right and (a) is wrong.
) Both (a) and (b) are right.
(4) Both (a) and (b) are wrong.
[Question ID = 155][Question Description = S6_English Content/Pedagogy_Q095]
1. 1 [Option ID = 617]
2. 2 [Option ID = 618]

3. 3 [Option ID = 619]
4. 4 [Option ID = 620]

6)



Read the passage given below and answer the question/complete the statements that follow
by choosing the correct options out of the given ones.

On the night of the day on which this cruel deed was done, I was aroused from sleep by the
cry of fire. The curtains of my bed were in flames. The whole house was blazing,. It was with great
difficulty that my wife, a servant, and myself, made our escape from the conflagration. The
destruction was complete. My entire worldly wealth was swallowed up, and I resigned myself
thenceforward to despair.

I am above the weakness of seeking to establish a sequence of cause and effect between the
disaster and the atrocity. But [ am detailing a chain of facts- and wish not to leave even a possible
link imperfect. On the day succeeding the fire, I visited the ruins.

The walls, with one exception, had fallen in. This exception was found in a compartment
wall, not very thick, which stood about the middle of the house and against which had rested the
head of my bed. The plastering had here, in great measure, resisted the action of the fire-a fact
which I attributed to its having been recently done.

About this wall a dense crowd had collected, and many persons seemed to be examining a
particular portion of it with very minute and eager attention. The words, ‘strange’ ! “singular " and
other similar expressions, excited my curiosity. I approached and saw, as if etched in bas relief
upon the white surface, the figure of a gigantic cat. The impression was given with an accuracy
truly marvellous. There was a rope about the animal’s neck.

Study the following statements :
(@) The people were shocked at the damage caused by the fire.
(b) The narrator felt curious at the excitement of the people.
(c) From the wall a cat was glaring at the people.
(1) (a) is right and (b) is wrong.
(2)  (b)is right and (c) is wrong.
(3) (c) is right and (a) is wrong,.
(4) Both (a) and (b) are right.
[Question ID = 156][Question Description = S6_English Content/Pedagogy_Q096]
1. 1 [Option ID = 621]
2. 2 [Option ID = 622]

3. 3 [Option ID = 623]
4. 4 [Option ID = 624]

7)



Read the passage given below and answer the question/complete the statements that follow
by choosing the correct options out of the given ones.

On the night of the day on which this cruel deed was done, I was aroused from sleep by the
cry of fire. The curtains of my bed were in flames. The whole house was blazing,. It was with great
difficulty that my wife, a servant, and myself, made our escape from the conflagration. The
destruction was complete. My entire worldly wealth was swallowed up, and I resigned myself
thenceforward to despair.

I am above the weakness of seeking to establish a sequence of cause and effect between the

disaster and the atrocity. But [ am detailing a chain of facts- and wish not to leave even a possible
link imperfect. On the day succeeding the fire, I visited the ruins.
The walls, with one exception, had fallen in. This exception was found in a compartment
wall, not very thick, which stood about the middle of the house and against which had rested the
head of my bed. The plastering had here, in great measure, resisted the action of the fire-a fact
which I attributed to its having been recently done.

About this wall a dense crowd had collected, and many persons seemed to be examining a
particular portion of it with very minute and eager attention. The words, ‘strange’ ! “singular " and
other similar expressions, excited my curiosity. I approached and saw, as if etched in bas relief
upon the white surface, the figure of a gigantic cat. The impression was given with an accuracy
truly marvellous. There was a rope about the animal’s neck.

‘...With one exception’....

The word exception means the same as :
(1) oddity

(2) preference

(3) acceptance

(4) absence

[Question ID = 157][Question Description = S6_English Content/Pedagogy_Q097]
1. 1 [Option ID = 625]
2. 2 [Option ID = 626]
3. 3 [Option ID = 627]
4. 4 [Option ID = 628]

8)



Read the passage given below and answer the question/complete the statements that follow
by choosing the correct options out of the given ones.

On the night of the day on which this cruel deed was done, I was aroused from sleep by the
cry of fire. The curtains of my bed were in flames. The whole house was blazing,. It was with great
difficulty that my wife, a servant, and myself, made our escape from the conflagration. The
destruction was complete. My entire worldly wealth was swallowed up, and I resigned myself
thenceforward to despair.

I am above the weakness of seeking to establish a sequence of cause and effect between the
disaster and the atrocity. But [ am detailing a chain of facts- and wish not to leave even a possible
link imperfect. On the day succeeding the fire, I visited the ruins.

The walls, with one exception, had fallen in. This exception was found in a compartment
wall, not very thick, which stood about the middle of the house and against which had rested the
head of my bed. The plastering had here, in great measure, resisted the action of the fire-a fact
which I attributed to its having been recently done.

About this wall a dense crowd had collected, and many persons seemed to be examining a
particular portion of it with very minute and eager attention. The words, ‘strange’ ! “singular " and
other similar expressions, excited my curiosity. I approached and saw, as if etched in bas relief
upon the white surface, the figure of a gigantic cat. The impression was given with an accuracy
truly marvellous. There was a rope about the animal’s neck.

‘On the day succeeding the fire ......."
The word opposite in meaning to the underlined word is :

(1) following

(2) failing
(3) preceding
(4) seeking

[Question ID = 158][Question Description = S6_English Content/Pedagogy_Q098]
1. 1 [Option ID = 629]
2. 2 [Option ID = 630]
3. 3 [Option ID = 631]
4. 4 [Option ID = 632]

9)



Read the passage given below and answer the question/complete the statements that follow
by choosing the correct options out of the given ones.

On the night of the day on which this cruel deed was done, I was aroused from sleep by the
cry of fire. The curtains of my bed were in flames. The whole house was blazing,. It was with great
difficulty that my wife, a servant, and myself, made our escape from the conflagration. The
destruction was complete. My entire worldly wealth was swallowed up, and I resigned myself
thenceforward to despair.

I am above the weakness of seeking to establish a sequence of cause and effect between the
disaster and the atrocity. But [ am detailing a chain of facts- and wish not to leave even a possible
link imperfect. On the day succeeding the fire, I visited the ruins.

The walls, with one exception, had fallen in. This exception was found in a compartment
wall, not very thick, which stood about the middle of the house and against which had rested the
head of my bed. The plastering had here, in great measure, resisted the action of the fire-a fact
which I attributed to its having been recently done.

About this wall a dense crowd had collected, and many persons seemed to be examining a
particular portion of it with very minute and eager attention. The words, ‘strange’ ! “singular " and
other similar expressions, excited my curiosity. I approached and saw, as if etched in bas relief
upon the white surface, the figure of a gigantic cat. The impression was given with an accuracy
truly marvellous. There was a rope about the animal’s neck.

‘The plastering had here ...."

The underlined word is a/an

(1) Verb

(2) Noun

(3) Adjective
(4) Interjection

[Question ID = 159][Question Description = S6_English Content/Pedagogy_Q099]
1. 1 [Option ID = 633]
2. 2 [Option ID = 634]
3. 3 [Option ID = 635]
4. 4 [Option ID = 636]

Topic:- ENG_Q100-105_L1_P2_CTET

1)



Read the extract given below and answer the question/complete the statements that follow by
choosing the most appropriate options out of the given ones.

Is this a holy thing to see

In a rich and fruitful land,

Babes reduced to misery,

Fed with cold and usurous hand ?

Is that rembling cry a song ?
Can it be a song of joy ?

And so many children poor ?
It is a land of poverty !

And their sun does never shine,

And their fields are bleak and bare,
And their ways are fill'd with thorns ;
It is eternal winter there.

For where-e’er the sun does shine,
And where-e’er the rain does fall,
Babe can never hunger there,
Nor poverty the mind appall.

The poem :

(1) isasong of joy.

(2) 1isa voice of protest.

(3) describes the glory of God.
(4) makes an appeal to God.

[Question ID = 160][Question Description = S6_English Content/Pedagogy_Q100]
1. 1 [Option ID = 637]
2. 2 [Option ID = 638]
3. 3 [Option ID = 639]
4. 4 [Option ID = 640]

2)



Read the extract given below and answer the question/complete the statements that follow by
choosing the most appropriate options out of the given ones.

Is this a holy thing to see

In a rich and fruitful land,

Babes reduced to misery,

Fed with cold and usurous hand ?

Is that rembling cry a song ?
Can it be a song of joy ?

And so many children poor ?
It is a land of poverty !

And their sun does never shine,

And their fields are bleak and bare,
And their ways are fill'd with thorns ;
It is eternal winter there.

For where-e’er the sun does shine,
And where-e’er the rain does fall,
Babe can never hunger there,
Nor poverty the mind appall.

The irony prevalent throughout the poem is that :
(1) Children in a rich country are hungry.

(2) There is no love for children here.

(3) Children are singing in a trembling voice.

(4) Ina poor country so many children are poor.

[Question ID = 161][Question Description = S6_English Content/Pedagogy_Q101]
1. 1 [Option ID = 641]
2. 2 [Option ID = 642]
3. 3 [Option ID = 643]
4. 4 [Option ID = 644]

3)



Read the extract given below and answer the question/complete the statements that follow by
choosing the most appropriate options out of the given ones.

Is this a holy thing to see

In a rich and fruitful land,

Babes reduced to misery,

Fed with cold and usurous hand ?

Is that rembling cry a song ?
Can it be a song of joy ?

And so many children poor ?
It is a land of poverty !

And their sun does never shine,

And their fields are bleak and bare,
And their ways are fill'd with thorns ;
It is eternal winter there.

For where-e’er the sun does shine,
And where-e’er the rain does fall,
Babe can never hunger there,
Nor poverty the mind appall.

‘their ways are filled with thorns.’
The figure of speech used here is a :

(1) Simile

(2) Metaphor

(3) Personification

(4) Metonymy
[Question ID = 162][Question Description = S6_English Content/Pedagogy_Q102]
1. 1 [Option ID = 645]

2. 2 [Option ID = 646]
3. 3 [Option ID = 647]
4. 4 [Option ID = 648]

4)



Read the extract given below and answer the question/complete the statements that follow by
choosing the most appropriate options out of the given ones.

Is this a holy thing to see

In a rich and fruitful land,

Babes reduced to misery,

Fed with cold and usurous hand ?

Is that rembling cry a song ?
Can it be a song of joy ?

And so many children poor ?
It is a land of poverty !

And their sun does never shine,

And their fields are bleak and bare,
And their ways are fill'd with thorns ;
It is eternal winter there.

For where-e’er the sun does shine,
And where-e’er the rain does fall,
Babe can never hunger there,
Nor poverty the mind appall.

‘It is eternal winter here’ actually means :
(1) Itis a very cold country.

(2) Nothing grows in the fields.

®)

(4) People are uncaring and callous.

Children enjoy the snowfall all the year round.

[Question ID = 163][Question Description = S6_English Content/Pedagogy_Q103]
1. 1 [Option ID = 649]
2. 2 [Option ID = 650]
3. 3 [Option ID = 651]
4. 4 [Option ID = 652]

5)



Read the extract given below and answer the question/complete the statements that follow by
choosing the most appropriate options out of the given ones.

Is this a holy thing to see

In a rich and fruitful land,

Babes reduced to misery,

Fed with cold and usurous hand ?

Is that rembling cry a song ?
Can it be a song of joy ?

And so many children poor ?
It is a land of poverty !

And their sun does never shine,

And their fields are bleak and bare,
And their ways are fill'd with thorns ;
It is eternal winter there.

For where-e’er the sun does shine,
And where-e’er the rain does fall,
Babe can never hunger there,
Nor poverty the mind appall.

“Usurous hand’ means :
(I) miserly nature

(2) a sympathetic heart
3) a thrifty person

(4) a useful person

[Question ID = 164][Question Description = S6_English Content/Pedagogy_Q104]
1. 1 [Option ID = 653]
2. 2 [Option ID = 654]
3. 3 [Option ID = 655]
4. 4 [Option ID = 656]

6)



Read the extract given below and answer the question/complete the statements that follow by
choosing the most appropriate options out of the given ones.

Is this a holy thing to see

In a rich and fruitful land,

Babes reduced to misery,

Fed with cold and usurous hand ?

Is that rembling cry a song ?
Can it be a song of joy ?

And so many children poor ?
It is a land of poverty !

And their sun does never shine,

And their fields are bleak and bare,
And their ways are fill'd with thorns ;
It is eternal winter there.

For where-e’er the sun does shine,
And where-e’er the rain does fall,
Babe can never hunger there,
Nor poverty the mind appall.

The child in the poem is :

(1) singing a happy song.

(2) playing in a rich and fruitful garden.

(3) leading a miserable life.

(4) suffering from cold.

[Question ID = 165][Question Description = S6_English Content/Pedagogy_Q105]
1. 1 [Option ID = 657]
2. 2 [Option ID = 658]

3. 3 [Option ID = 659]
4. 4 [Option ID = 660]

Topic:- ENG_Q106-120_L1_P2_CTET

) Children acquire language through social interaction. This idea is supported by :

(1) Piaget

(2)  Vygotsky

(3) Chomsky

(4) Skinner
[Question ID = 166][Question Description = S6_English Content/Pedagogy_Q106]
1. 1 [Option ID = 661]

2. 2 [Option ID = 662]
3. 3 [Option ID = 663]
4. 4 [Option ID = 664]



2 : B : :
) A 7 months old child makes vocalisations using of consonants and vowels. He is

communicating using :
(1) linguistic speech
(2) cooing

(3) phonemes

(4) babbling

[Question ID = 167][Question Description = S6_English Content/Pedagogy_Q107]
1. 1 [Option ID = 665]
2. 2 [Option ID = 666]
3. 3 [Option ID = 667]
4. 4 [Option ID = 668]

?) talk is considered as a well organized talk.
(1) Structured
(2) Short
(3) Long

(4) Random

[Question ID = 168][Question Description = S6_English Content/Pedagogy_Q108]
1. 1 [Option ID = 669]
2. 2 [Option ID = 670]
3. 3 [Option ID = 671]
4. 4[Option ID = 672]

4 Students hear or read different parts of the text, then exchange information with others to
complete the task :

(1) Running dictation

(2) Composition dictation

(3) Jigsaw dictation

(4) Partial dictation

[Question ID = 169][Question Description = S6_English Content/Pedagogy_Q109]

1. 1 [Option ID = 673]

2. 2 [Option ID = 674]

3. 3 [Option ID = 675]
4. 4 [Option ID = 676]

A language teacher notices that her class 7 student has a difficulty in retelling a story, his
speech is not fluent and he is unable to understand the meaning of words discussed in
class. This language disorder is referred to as :

(1) Dysphasia

2) Dysgraphia

)

(2)
(3) Dyspraxia
(4)

Dyscalculia

e

[Question ID = 170][Question Description = S6_English Content/Pedagogy_Q110]
1. 1 [Option ID = 677]
2. 2 [Option ID = 678]
3. 3 [Option ID = 679]
4. 4 [Option ID = 680]



6)

A teacher tests the students in language skills at the end of each semester. This will help

her to :

(1) Assess student’s language proficiency

(2) Measure their aptitude for learning the language
(3) Assign scores to them

(4) Define curricular objective

[Question ID = 171][Question Description = S6_English Content/Pedagogy_Q111]
1. 1 [Option ID = 681]
2. 2 [Option ID = 682]
3. 3 [Option ID = 683]
4. 4 [Option ID = 684]

7)

(1)

(
(

2)
(3)
1)

Assessment in the language class must be conducted :

to know whether they have learnt the answers of the questions related to the text.
during the teaching learning process

to know how efficient is the teacher to teach

only after the text is complete

[Question ID = 172][Question Description = S6_English Content/Pedagogy_Q112]
1. 1 [Option ID = 685]
2. 2 [Option ID = 686]
3. 3 [Option ID = 687]
4. 4[Option ID = 688]

8)

(1)

Which of the following statement is true for code mixing and code switching ?

Code mixing is when someone alternates two or more languages in same conversation
while Code switching is when someone uses one word or phrase from one language
to another language.

Code mixing and code switching are synonymous to each other.

Code mixing is when someone uses one word or phrase from one language to another
language while code switchjng is when someone alternates two or more languages
in same conversation.

Code mixing and code switching is done only by monolinguals.

[Question ID = 173][Question Description = S6_English Content/Pedagogy_Q113]
1. 1 [Option ID = 689]
2. 2 [Option ID = 690]
3. 3 [Option ID = 691]
4. 4 [Option ID = 692]

9
(
(
(
(

1
2

3

e . =

4

Which of the following statement reflect the relation between reading and writing skill ?

A child who can’t write also can’t read.

Reading and writing skill are integrated.

Reading and writing should be taught separately.

If a child does well in one of these skills he will definitely do well in other.

[Question ID = 174][Question Description = S6_English Content/Pedagogy_Q114]
1. 1 [Option ID = 693]
2. 2 [Option ID = 694]
3. 3 [Option ID = 695]
4. 4 [Option ID = 696]



"9 A teacher asks the students to replace the underlined word with the correct option. Which

skill is NOT being assessed by her ?

(1) Listening
(2) Writing
(3) Reading

(4) Hearing

[Question ID = 175][Question Description = S6_English Content/Pedagogy_Q115]
1. 1 [Option ID = 697]
2. 2 [Option ID = 698]
3. 3 [Option ID = 699]
4. 4 [Option ID = 700]

" Steps of process writing approach are :

(1) Prewrite-Draft-Revise-Edit-Publish
(2) Prewrite-Revise-Edit-Write-Publish
(3) Prewrite-Edit-Revise-Write-Publish
(4)  Write-Revise-Prewrite-Edit-Publish

[Question ID = 176][Question Description = S6_English Content/Pedagogy_Q116]
1. 1 [Option ID = 701]
2. 2 [Option ID = 702]
3. 3 [Option ID = 703]
4. 4 [Option ID = 704]

Reading to find specific facts is :

(1) Scanning

(2) Skimming

(3) Decoding

(4) Extensive reading

[Question ID = 177][Question Description = S6_English Content/Pedagogy_Q117]
1. 1 [Option ID = 705]
2. 2 [Option ID = 706]
3. 3 [Option ID = 707]
4. 4 [Option ID = 708]

13) To promote the social language in class a teacher :

(1) asked the learner to write a report on children’s day.

(2) gave the learners the opportunity to interact with peers.
(3) asked the learners to write an invitation letter for her birthday.
(4) asked the learner to summarize the given text.

[Question ID = 178][Question Description = S6_English Content/Pedagogy_Q118]
1. 1 [Option ID = 709]
2. 2 [Option ID = 710]
3. 3 [Option ID = 711]
4. 4 [Option ID = 712]



14) Teacher asked the learners to choose the story books from the classroom library and read

individually. She wants to promote :
(1) Intensive reading
(2) Extensive reading
(3) Critical reading
(4)

4 Shared reading

[Question ID = 179][Question Description = S6_English Content/Pedagogy_Q119]
1. 1 [Option ID = 713]
2. 2 [Option ID = 714]
3. 3 [Option ID = 715]
4. 4 [Option ID = 716]

15 ; Ghe g : i
) A class-6 teacher conducts various activities in her class to improve spellings and

punctuations. This will help her students to :
(1) enhance their fluency

(2) enhance their listening skills

(3) improve their accuracy
(4)

4) improve their vocabulary

[Question ID = 180][Question Description = S6_English Content/Pedagogy_Q120]
1. 1 [Option ID = 717]
2. 2 [Option ID = 718]
3. 3 [Option ID = 719]
4. 4 [Option ID = 720]

Topic:- HIN_Q121-128_L2_P2_CTET

K fre fou o eyt @ sagde ufew aon UB T wve o ot wed sageRt fasen @ wem
T |
THI ST1-3T0+1 HIGUTOTT & | Sk Wi off 38 o701 Thel, el S7a1 a1 81 39 29 B
TS WA | BH AU HIA1 I ARETE e e R et # o i e el o g | figwm
H TN o4 S U Sgd foune 9e-ed B 3EH o0d H WR-ggsd 3 9edn i agHed T
HTh T B T I TS L Tohd © | TN Rl ST HTo1ef § 953 ST #9171 ™ 78 81 39
<91 ot Geft R wrnsti § w7 STt TRt Tieht 38 HSEd ST S 6 § | TR
2 Yferr €1 U A 79 35 IR gH i &S % wehd €1 & ¥ & ¢ o vaw fean 7

el iR 3¢ sramd TrsgaTer Y <) Tl
(1)  =ifert

(2) 39w

(3) 39 siferr

(4) e

[Question ID = 481][Question Description = S6_Hindi Content/Pedagogy_Q121]
1. 1 [Option ID = 1921]
2. 2 [Option ID = 1922]
3. 3 [Option ID = 1923]
4. 4 [Option ID = 1924]



2)

o feu T TenyT W SagEe afeu AT UP T e o ot ded Sagea faesheu T =
THiTaT |

T ST 370+ TIgaeTd €| S Wi oft 5 79 IR, ey ofE wA E | 39 2 B
e TR | BH ST A T SIRaTe Fek et R wrera # ofRf = S T R wea | fgwm
H BUR A= S U 95 fawne q-FEa € 39 o9 § wR-Teed IR ¥eAr i agned ia
FTF B T U 1 ST HT Thd © | TSI 1 377 qroieti ¥ 953 a1 g9 S e 81 39
9 W W WRAE el | qrehd < aTel! W et S8 A S SR R 7 | ST
31 el €1 U I B9 35 3R 5l #I @ e wehd €1 B 9 F 32 o var e 2

TRITY o STTER BH U] HIGHET T =1y |
(1) e

(2) HHHE

(3) @M

(4) HoEE

[Question ID = 482][Question Description = S6_Hindi Content/Pedagogy_Q122]
1. 1 [Option ID = 1925]
2. 2 [Option ID = 1926]
3. 3 [Option ID = 1927]
4. 4 [Option ID = 1928]

3)

o feu T TenyT W SagEe afeu AT UP T e o ot ded Sagea faesheu T =
THiTaT |

T ST 370+ TIgaeTd €| S Wi oft 5 79 IR, ey ofE wA E | 39 2 B
e TR | BH ST A T SIRaTe Fek et R wrera # ofRf = S T R wea | fgwm
H BUR A= S U 95 fawne q-FEa € 39 o9 § wR-Teed IR ¥eAr i agned ia
FTF B B U 1 TGS HT Thdl © | TSI 1 377 Toieti § 93 9am g9 S e 81 39
9 W Gt WRAE el | qrehd < aTell A et 3 A SAE1 SHR R 7 | ST
21 Yferl 81wk i 7 39 iR gl #1 &4 &' ued €1 &S W E 3¢ &1 g frewer 2

TRITYT o STIHR Y -

(1) TH-TR FI TE oA ¢
(2) TH-FE A FA T
(3) ST HeTe o HR §
(4) =Y I el @

[Question ID = 483][Question Description = S6_Hindi Content/Pedagogy_Q123]
1. 1 [Option ID = 1929]
2. 2 [Option ID = 1930]
3. 3 [Option ID = 1931]
4. 4 [Option ID = 1932]

4)



e few e TNyt Wt eaTgEeR feu AT UB T U o foTe, e Saged fashed s e
THITAT |

TORT STYHT-ST9T AIGTTE ¥ 1 9ok Ui off T ST91 IS, Fid ST B | SH BN oI
TET Tk | BH STOHT W1 1 SIRaTe ek et fR wrera H SR i S e e weha | g
H AR o9 S U Sgd faue q-Fed §, 9 S H WR-qgead S Hedn o agHed el
e & BH U T ST H Tehd © | TSI 1 237G uraied § 963 S[a g9 HH TR €1 39
1 W AR e | AR S AT T et 39 AT ST SR I § | T
Q1 Aferl €1 U 1 B 39 IR gEd o & % Wehd €1 fES 9 & 55 1 v Tk B

Tegear | amistl & &= I -
(1) 977

2 WHE

3) 8%

(4) wfqer

[Question ID = 484][Question Description = S6_Hindi Content/Pedagogy_Q124]
1. 1 [Option ID = 1933]
2. 2 [Option ID = 1934]
3. 3 [Option ID = 1935]
4. 4 [Option ID = 1936]

5)

= fow T ey =t sarades ufew der UB e wye o forw e suge faswen &t e
THITT |

TR ST ST9T HIGSTOTE €1 37k 9fd off 26 3191 Wel, e 31a] e €1 39 39 8IS
TET T | TH ST Wil 1 AIarel Fek et R grera H oI i S e e wehd | g
H gHR o9 S U ogd e qe-ged €, 39H S H WR-qegsad SR Hedn i agHed el
Tk B BH U o ST HLHHA & | U i 37 e ¥ 9% SdM S9N i T8 &1 29
a1 T |l WIdTE et § Avehd S aell A St 30 HSiEd ST §HRI HH ¢ | TEHTE
1 Al €1 TH 1 EH Ig 3R g8 i &l Fe Hehd 21 &S A & 3§ F v e 7

ST ST SRT WAWT e, 39T TER-FER 31 ST —

(1) e
) afafe =@ 2
3) wfga &g
(4) T

[Question ID = 485][Question Description = S6_Hindi Content/Pedagogy_Q125]
1. 1 [Option ID = 1937]
2. 2 [Option ID = 1938]
3. 3 [Option ID = 1939]
4. 4 [Option ID = 1940]

6)



e feu 1T Tenyr W sagES qfeu 99T UB Y Wy o forg, Hed Sage fawed T wEe
ThiTTT |

FAR STOT-AT AIgATTE €1 3% Wi off 56 oT0 Whel, e 11 I 81 3W B Bie
TET Tehd | BH ST HIT 1 SRR Feh el fRE werd § SR it San T e gehd | gwm
o R =i S U oga & qm-ged §, S99 39 H Wi -gesad IR 9edn o arHed Ta
HH & T UL H YIS L Thd & | UL oY 3= Wi & 93 a1 g9l 1 el §1 29
SO0 W AT ST | drehd < STell I et 39 WS ST GAW R ¥ | T
&1 el 81w 1 en I iR gHd &1 il w wehd 81 R | & 5 % ware freken B

3¢ 1 VAR H fren €1
(1) H=Hd

2 f&

(3) ferl

(4) fegwri

[Question ID = 486][Question Description = S6_Hindi Content/Pedagogy_Q126]
1. 1 [Option ID = 1941]
2. 2 [Option ID = 1942]
3. 3 [Option ID = 1943]
4. 4 [Option ID = 1944]

7)

et feu o ey W sagd afew qen UB e wee & ot wed Sagem fawen @ wee
SHITT |

TAR STOT- 379 AGATTE € 1 39 Wi off 56 o101 e, T SR FI © 1 W BH BIe
&l TR | B9 ST WA W1 SIOLeTEl ek sl TRl wrera H iR w1 Hen T e weRd | figmE
T gAN 1= S Uk ogd e - € SEH e § oIR- e i Hedn o aFHed Ue
T B B U o WS T © | TSI WY 3 9Tl ¥ S o g9 19 e €1 39
29 o Wt WA el | drehd < STell AR Tl 39 WS ST SN R 7 | TR 6
&1 el €1 w1 em 9 oI gudl & & #w w81 Bd 9 & 33 %1 wame faeen 2

STt STt % I ¢ |
(1) 7oK Wse-TH

(2) TR w=—gH

(3) Hel wE-g™

(4) fu=neds v==-gm™

[Question ID = 487][Question Description = S6_Hindi Content/Pedagogy_Q127]
1. 1 [Option ID = 1945]
2. 2 [Option ID = 1946]
3. 3 [Option ID = 1947]
4. 4 [Option ID = 1948]

8)



e feu 1T Tenyr W sagES qfeu 99T UB Y Wy o forg, Hed Sage fawed T wEe
ThiTTT |

FAR STOT-AT AIgATTE €1 3% Wi off 56 oT0 Whel, e 11 I 81 3W B Bie
TET Tehd | BH ST HIT 1 SRR Feh el fRE werd § SR it San T e gehd | gwm
o R =i S U oga & qm-ged §, S99 39 H Wi -gesad IR 9edn o arHed Ta
T B T U 6 YIS S Tehd & | TLHIW o1 311 WIS & 93 s g9l 1 el §1 39
SO0 W AT ST | drehd < STell I et 39 WS ST GAW R ¥ | T
&1 el 81w 1 en I iR gHd &1 il w wehd 81 R | & 5 % ware freken B

TR H o= § -
(1) d9ER

(2)

(3) s

(4) 9EEH

[Question ID = 488][Question Description = S6_Hindi Content/Pedagogy_Q128]
1. 1 [Option ID = 1949]
2. 2 [Option ID = 1950]
3. 3 [Option ID = 1951]
4. 4 [Option ID = 1952]

Topic:- HIN_Q129-135_L2_P2_CTET

K o few T Tenyr W sagde afeu T yB T uve & fore we sugem faseu w1 =
THITT |
il 7R faw o= %1 33 St <9 A € 7S B A1) S ggel AR T 1943 77 1944 H
gl % T #feh geted g0 = St ol wiEg e few e fud | vy §, 99 91, 99 UR A SH
FN B U A G A wiadl S IR Y T, Hiad & 9N W geivE wfa F o oiw suF
TEATER IR AT USRI g3 | 5 ge it = ered T e | e & SR i S o
T o - IHF! Uh-Teh a1 G2 304 981 o @A SAq0el & a1 Hf fFaga qE-ae ae 71 FE
FI FY-TM F1 T, IHF YRS, HiHe ¥, g2-92, Wige F1g T o 3595 918 § 7 H
SR off A TR U | T 3HF FE H FO AR & ¢ A ATER AL 9 | =L T =
off o1 - 7 - 71 9 W AR guiafud 9 | gE-g21 9€ RHa-wEd 9 off | 5w qaye 9w
T VIS Uk eI off 911 W 3H T ¥ off SUe] saeRer & i % g s Ue S o 9

s Sit oh1 hiadn fere afsent H weRtier g3 ot 2

(1) =i
2) TElay
(3) Al
(4)

[Question ID = 489][Question Description = S6_Hindi Content/Pedagogy_Q129]
1. 1 [Option ID = 1953]
2. 2 [Option ID = 1954]
3. 3 [Option ID = 1955]
4. 4 [Option ID = 1956]



2)

e feu T ey sagdeR afeu aen UB T uye & ot wed sugen faseu & e
THiToTT |

HH FAN faw o= %1 S St <o ol € T[S B A1) S Ygedl a1 HA 1943 F7 1944 H
gl & QT #sh Yeted g0 S= St ol WiEg hfedl ‘eH e f9d | By 8, 99 91, 39 9R A SiH
F1 B UG Al HU A Hiadl i IR W 7, Hied & Y R yHvE wfa & 9w o suE
BTG IR ATE] UshT B3 | S e il o Sreel @ e | whiadn % SR e o Sl
B o - ST UH-Ueh o1 G 30 981 o @Asl Aq0el & a1 o foosa aE-anE a5 71 F
%I HY-F 1 TR, ST Y, Hige 8, g9, Wigw H18 M0 9 39 91 § 79
SR off A TR A | T TF TE W FO AR & A gL A AR BER AT S | gL I =T
off o1 - 39 - TR 918 W S guifud 9 | gE-gg 9l Riga-wEd 91 of | e Waye 9w
T VRIS Uk TEET off 971 W 3H R ¥ off Se] srereRer & i % g S Ue S o 9

TEE 1 T el A e e ?
(1) i o¢

(2) bR ™
(3) FHEIET W
(4) @it W

[Question ID = 490][Question Description = S6_Hindi Content/Pedagogy_Q130]
1. 1 [Option ID = 1957]
2. 2 [Option ID = 1958]
3. 3 [Option ID = 1959]
4. 4 [Option ID = 1960]

3)

o feu T TenyT W SagEe afeu AT UP T e o ot ded Sagea faesheu T =
THiTaT |

=1 AR foe o= 1 A Sl g9 oA € Y2 B o1 S Ugell @R HA 1943 71 1944
gl % T S geted g0 e St ol WiEg shfel feH e Tyl | vy §, 99 91, 99 9R A SiH
N B G A T S hfedl st 2R S T, Hiadr & 9 9 g fa % o el sue
BTG IR TS U g3 | S e el o sreel @ Ere | whiadn % SR e o S o
B A - TR UH-UF o1 G 504 981 o @l Aq0el & 9 ff foga aE-arE 9 21 F9
I HY-TM 1 TR, S P, Hige ¥, 9898, Wigw H1g M0 9 39% 9 ¥ md
SR o A TR A 1 T TF TET W FO AR & A2 g A SR BT AT T S | gL T =9
off o1 - 39 - 791 98 W SR guifud & | gu-gg 9€ Riga-HEd 91 off | S Yaye Je
T VRIS Uk TEET oft o7 | W 3H R ¥ off Se) sareRen & whia % gwan s Ye S e 9

gt U H WeRIT shfaar H wia % gxmar & ot ofT Brem o)
(1)  =hfa =1 9

(2) ohfd @I AFFaT

(3) oHfa % W

(4) =fg = 95

[Question ID = 491][Question Description = S6_Hindi Content/Pedagogy_Q131]
1. 1 [Option ID = 1961]



2. 2 [Option ID = 1962]
3. 3 [Option ID = 1963]
4. 4 [Option ID = 1964]

Y e few o Tenyr W sagdes afeu W yB T wye & fore we sugen faeeu & =
THITeT |
H4 ZAN faw s= %1 S St <o A € TS B A1) S Ugel! dR 5 1943 A7 1944 H
‘gt % QA 3o Ueted gU S S ol WiEg o ‘oW R il | 9y ®, 99 @1, 39 UR A S
N B UG G S wfadl S eIR %9 T, Had & Y W yeivh wfa F o oin suw
TEATER IR AT USRI g3 | 5 ge it = erred T e | Shiadn & R i S o
T o - U Uh-Ueh a1 G2 304 981 o @A SAq0el & 9 Hf Fasa qE-ae ae 71 FE
FI FHY-TT F1 T, IHF Y, HHed ¥, g8-92, Wige F1g T o 3605 91 § 7Y H
3R off A TR U | T 39F 6 § F AR 81 96 LA AXTER AW 9 | 8L W=
off o1 - 7 - 71 918 W 3 quifid 9 | G- 9 RiHa-wEd 91 off | 5w qaye 9w
T 9IS Ueh e off 91| WX 39 e 9 off Se] SAreReh & hfa 3 gwanei S Y S o 9

S 3 el i fasre T o
(1) g

(2) =

(3) #E-TE

(4) HaEH

[Question ID = 492][Question Description = S6_Hindi Content/Pedagogy_Q132]
1. 1 [Option ID = 1965]
2. 2 [Option ID = 1966]
3. 3 [Option ID = 1967]
4. 4 [Option ID = 1968]



5)

= feu T wTenyr it sagEe ufew 9or yB T wyH o fow e sugea fawed & wee
THiTaT |

=1 AR foe o= 1 A Sl g9 oA € Y2 B o1 S Ugell @R HA 1943 71 1944
gl % T S geted g0 e St ol WiEg shfel feH e Tyl | vy §, 99 91, 99 9R A SiH
N B G A T S hfedl st 2R S T, Hiadr & 9 9 g fa % o el sue
BTG IR ATE] UhT B3 | S Wo il A STeel @ B | whiedn & SR e o Sl o
B A - T UH-TF o1 G 501 981 o oAl SAq0el & 9% o fooigd aE-arE a5 71 F
I HY-TM 1 TR, S P, Hige ¥, 9898, Wigw H1g M0 9 39% 9 ¥ md
SR o A TR A 1 T TF TET W FO AR & A2 g A SR BT AT T S | gL T =9
off o1 - 39 - 791 98 W SR guitfud & | gE-gg1 9 Riga-HEd 91 off | S qaye Je
T VRIS Uk TEET oft o7 | W 3H R ¥ off Se) sareRen & whia % gwan s Ye S e 9

A Sl o SAfdde i fawwar o |
(1)  Fisfian

(2) EAFERYS

(3) TEYITE

(4) gofenfed

[Question ID = 493][Question Description = S6_Hindi Content/Pedagogy_Q133]
1. 1 [Option ID = 1969]
2. 2 [Option ID = 1970]
3. 3 [Option ID = 1971]
4. 4 [Option ID = 1972]

K e few o eyt W sagde afew won yB T uys & fore wed Sugen faseu @ =
THITeT |
il FAN faw s=[ %1 23 St <9 A S T[S B A1) S Uge AR T 1943 77 1944 H
"Gl o QI $i%h geied §U Se St bl WEg Shiadl SH U 9d | HY §, 9 €1, 99 9R A SH
0 B GG A G A wiedl st IR S T, Hiadr & 9 W geRiive wfa & o el sue
BT U AT Uk g3 | S e el = sreel @1 e | Shiedn & S whfe o S o
T A - T UH-TF 91 G 504 981 & o« Aq0el & 9 off fooisa a-are 9 21 F9
FI HY-TCW 1 TR, SHF P, HEe I, g9, Wigw F1E T 9 39F 19 § WY
AR M AR TR U | T THF e U FO AR & I gL A SR BTER AT 9 | =g T =9
off o1 - 3 - TR 98 W IR guiafud & | gE-g 9 Ria-wEd 91 off | S yaye 9w
T VRIE Uk TRl oft o1 | W 39 e 9 off S s es & i % g s Ue S o 9

ogE | o= o= ® |
(1) T A

(2) =g

(3) HIF AR

(4) HE-44

[Question ID = 494][Question Description = S6_Hindi Content/Pedagogy_Q134]
1. 1 [Option ID = 1973]



2. 2 [Option ID = 1974]
3. 3 [Option ID = 1975]
4. 4 [Option ID = 1976]

K e few o Tenyr W sagdes afeu W yB T wye & fore we sugen faeeu & =
THITeT |
H4 ZAN faw s= %1 S St <o A € TS B A1) S Ugel! dR 5 1943 A7 1944 H
‘gt % QA 3o Ueted gU S S ol WiEg o ‘oW R il | 9y ®, 99 @1, 39 UR A S
N B UG G S wfadl S eIR %9 T, Had & Y W yeivh wfa F o oin suw
TEATER IR AT USRI g3 | 5 ge it = erred T e | Shiadn & R i S o
T o - U Uh-Ueh a1 G2 304 981 o @A SAq0el & 9 Hf Fasa qE-ae ae 71 FE
FI FHY-TT F1 T, IHF Y, HHed ¥, g8-92, Wige F1g T o 3605 91 § 7Y H
3R off A TR U | T 39F 6 § F AR 81 96 LA AXTER AW 9 | 8L W=
off o1 - 7 - 71 918 W 3 quifid 9 | G- 9 RiHa-wEd 91 off | 5w qaye 9w
T 9IS Ueh e off 91| WX 39 e 9 off Se] SAreReh & hfa 3 gwanei S Y S o 9

‘gaIfe’ W W U § [
(1) T

(2) =d

3) ¥@

(4)

[Question ID = 495][Question Description = S6_Hindi Content/Pedagogy_Q135]
1. 1 [Option ID = 1977]
2. 2 [Option ID = 1978]
3. 3 [Option ID = 1979]
4. 4 [Option ID = 1980]

Topic:- HIN_Q136-150_L2_P2_CTET

Y TR ST HiveTs S § i S, i T whE E
(1) gera: @9 Wi f ufwn & Snm sl diem w
(2) TE=a: eHfa W IR R ufean & S eref & wfa 9os a9 W
(3)  ARfd % FEN 3R 79 W
(4) fea@r siw smea-fofo o

[Question ID = 496][Question Description = S6_Hindi Content/Pedagogy_Q136]
1. 1 [Option ID = 1981]
2. 2 [Option ID = 1982]
3. 3 [Option ID = 1983]
4. 4 [Option ID = 1984]

Y Freferfaa 8§ & FA-d dre et ofafaf & smnls @ smoi 2
(1) 91T ATt & |1 o foen & |
(2) 9d FF 1 SEEE HIA
(3) U 3R I W% A& YSAHETH T g gL B GAA |
(4) U IR B T



[Question ID = 497][Question Description = S6_Hindi Content/Pedagogy_Q137]
1. 1 [Option ID = 1985]
2. 2 [Option ID = 1986]
3. 3 [Option ID = 1987]
4. 4[Option ID = 1988]

D Tt T TSI 1SR 1 FEdrd & 2

(1)
(2)
(3)
(4)

Ffe fageram
fawdiarcTs fagermo
R fergeram
yieg forgersmy

[Question ID = 498][Question Description = S6_Hindi Content/Pedagogy_Q138]
1. 1 [Option ID = 1989]
2. 2 [Option ID = 1990]
3. 3 [Option ID = 1991]
4. 4 [Option ID = 1992]

4)

U STEATTF e T % faenfia & e oR @ v forar @ #1 wyraeiel 9% 4 e o

F T -3 HIve Teayol &2

(1
(2
(3
(

)
)
)
4)

YaTE & |1 T, ek =gl &1 98 &

Y] % TIH T Hehal S v o HiE S 1 T FE
319 TR 31 YA Sd 5T HIT %1 e |

el foum T faur & w o= e |

[Question ID = 499][Question Description = S6_Hindi Content/Pedagogy_Q139]
1. 1 [Option ID = 1993]
2. 2 [Option ID = 1994]
3. 3 [Option ID = 1995]
4. 4 [Option ID = 1996]

Y fomelf < e = ¥ oI 9w wed ¥ fo A T e R wfE  w #

(1)
(2)
(3)
(4)

g
T

EIGEI
TEACTF

[Question ID = 500][Question Description = S6_Hindi Content/Pedagogy_Q140]
1. 1 [Option ID = 1997]
2. 2 [Option ID = 1998]
3. 3 [Option ID = 1999]
4. 4 [Option ID = 2000]

Y % s foam T e ohl AT A1 AT FMRT ?

(1)
(2)

(3)
(4)

Toremeft & == i 9o § e #1279 fomgat =nfew)

e 9l H 31U Yo T9d oI e v % fOu vesew & waE & o vemnfed e
=fed |

Toreneft =A1 fu=—far=r weuf ¥ w=di =1 wam &9 o foru gieafea e =fgu
foraneft =1 gJdora TieT 2 YT I TG A FI F AT Fe Ao



[Question ID = 501][Question Description = S6_Hindi Content/Pedagogy_Q141]
1. 1 [Option ID = 2001]
2. 2 [Option ID = 2002]
3. 3 [Option ID = 2003]
4. 4[Option ID = 2004]

7)

Ty FreATfueRT Aed & for 3k ferenefl yrfores wieenl | S2vdi & foru ford | 39 Sevg &t wifid &
Tow gy =fean e s -4 82

(1) Toremeft forner dedt g8 W s1oet T & % fon g 6w foaa §

2) Taeneft stezm & o1a ® fou U weHi W eow H =El e 36 SW A § |

(3) Tarnefl et € H @ R fRew w1 weian fawd €1

(4) Taemedt ‘0 foemers’ foma W foad €1

[Question ID = 502][Question Description = S6_Hindi Content/Pedagogy_Q142]
1. 1 [Option ID = 2005]
2. 2 [Option ID = 2006]
3. 3 [Option ID = 2007]
4. 4 [Option ID = 2008]

Y 2 e ST e § -
(1) T 3R oA
(2) g9 &R der

(3) g &R YeA

(4) drem iR oA

[Question ID = 503][Question Description = S6_Hindi Content/Pedagogy_Q143]
1. 1 [Option ID = 2009]
2. 2 [Option ID = 2010]
3. 3 [Option ID = 2011]
4. 4 [Option ID = 2012]

ad

9)

T 6 hi Teh SHAEANIHT WIS ard w9 ez =1 e Septioeg a3l sl SR s &l 8|
39 Sia F1 arfas fefad 9§ T aga-Hi fefell 1 swm ww € S s fagei
1 YA g1 B 1 3F 915 98 A0 fagel & frem fuifta w5 % foe wee #d €1 =9
gfsha1 ot = FEd § 2

(1) Hed ¥ =

(2) T | H SR

(3) foenferi o e =R

(4) STAER H AR

1[Q:J<E\cs;:)it?; ||g =250(1):]][Question Description = S6_Hindi Content/Pedagogy_Q144]

2. 2 [Option ID = 2014]

3. 3 [Option ID = 2015]
4. 4 [Option ID = 2016]



10)

U A 3 SEeliR fral T ueh faenet s ard wy @ sgd giaues w9 9 feradt @it

et T 1 Al © TS ] 1 HET FGife ?

(1)

@)
)
@)

ferenefl =01 go= A =feT @iR 3 ma nfafafiml w5 % fau e a1y =1 w9 w9 F fog
#E |

o = a1 Ushelsh o 39 3191 GaEgaR #id W < fau giedied s =gy |
sIfTaeh] 1 ST =ifen foF g1d w19 § foras =1 SRR 319 SHEE |

Y 9uE o 9HYA 2q  favm foers’ & ur o S =)

[Question ID = 505][Question Description = S6_Hindi Content/Pedagogy_Q145]
1. 1 [Option ID = 2017]
2. 2 [Option ID = 2018]
3. 3 [Option ID = 2019]
4. 4 [Option ID = 2020]

11)

T, I, BE-9E SR 1Y & WY e ol A faad fanet ey gmnit & ot e 99,

Tored Heifem €2

(1) Yeq 9™

(2) wifigss s foswm
(3) UeA H walurl

(4) Temifen (fest &em)

[Question ID = 506][Question Description = S6_Hindi Content/Pedagogy_Q146]
1. 1 [Option ID = 2021]
2. 2 [Option ID = 2022]
3. 3 [Option ID = 2023]
4. 4 [Option ID = 2024]

12)

e forenefl 5 7R sl Wl AdHl TTerd forel @ Tieg IH I o WA FEEIe’ o ST Hellidsh

grfouam e wirasmmd aa g ?

(1)
(2)
(3)
(4)

Y 79
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[Question ID = 507][Question Description = S6_Hindi Content/Pedagogy_Q147]
1. 1 [Option ID = 2025]
2. 2 [Option ID = 2026]
3. 3 [Option ID = 2027]
4. 4 [Option ID = 2028]

13)

(1)
(2)
()
(4)

Frreferfiaa o & 1 ot Jfer agefires e § v 0 ¥ fo gatfis w9 @ 9y 27

e fadq &K #ig fagm)

1 T T SR S ] YoH 9 o S |

el H ST W Sl 9l o 998 S |

agwifus e § forelt fad ek % wdm =t st 76 2

[Question ID = 508][Question Description = S6_Hindi Content/Pedagogy_Q148]
1. 1 [Option ID = 2029]



2. 2 [Option ID = 2030]
3. 3 [Option ID = 2031]
4. 4 [Option ID = 2032]
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[Question ID = 509][Question Description = S6_Hindi Content/Pedagogy_Q149]
1. 1 [Option ID = 2033]
2. 2 [Option ID = 2034]
3. 3 [Option ID = 2035]
4. 4 [Option ID = 2036]
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[Question ID = 510][Question Description = S6_Hindi Content/Pedagogy_Q150]
1. 1 [Option ID = 2037]
2. 2 [Option ID = 2038]

3. 3 [Option ID = 2039]
4. 4 [Option ID = 2040]






